S ——

55/16/101 t4)
Part A
General Mental Ability, Admlmstratlve and B >pA S <805
Psychological Abilities Dot DS, @2 e
DerasS JDOSD

If 808 x 8008 x 80008 = A and the sum of a]]
the digits in the A is M, what will be the value

of VM ?
(1 8
(2) 12
(3)
(4)

0
4

(Directions for questions 2 - 3)

There are two series given below, of which one is
complete and follows a certain pattern. Based on the
pattern of the complete series, find the answering
term in the other series with missing terms marked
by alphabets.

Which number will come in place of D in the
following ?

4 25
6 A

(1) 7827
(2) 8394
(3) 8401
(4) 8514

2.

1009 5041 20161
C D E

169
B

Which number will come in place of in the
following ?

4 7.5 2126 77876
5 A B C

(1) 21842
21145
22826
2419-4

354-9375 1957.65695 -
D E

(2)
(3)
4)

L 808 x 8008 x 80008 = A $HB0H A SR @)
©08e) Fueso M eowd. M Ty DD
0 @)S0E ?

1 8
2) 12
3 0
4) 4

(2 - 3 (5%) @30 AreSSen)

& 1504 Boch Hogry (FEven VD [DFTQW,
T3S’ 2,563 FEON0B HOH DY ST
©NIO0WVDB08. J*8 Sogrs (3B DED BwEy
ST 8O, SFSroes  HB0IDBS
ST HFOS VeSS HOgrs (Fen S’ HSTEed
D), EQOFI0A.

2. (808 8S D PS0S S Sogs OB 2
4 25 169 1009 5041 20161
6 A B . Cc D =g
(1) 17827
(2) 8394
(3) 8401
4) 8514
3. (800 >8S E oS Sk DOPS A 2

4 75 2125 T7875 354.9375 19

5 A B o 57;5625
(1) 21842
(2) 21146
(3) 22825
(4) 24194
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.+ has to travel distances of 66 (8) a8 af

4 d 110 km on three consecuti\; n, 88 ]“n 4 ;)d)r‘()ﬁ" La3°Ch a3 66 g% @é‘;’))
an i t e dﬁys - @a)é 5 0'53"55055' ; é@‘f’
tra‘yels Wlth the grea est pOSSible . . He mam 110 gg)) (ﬁj"éo Lo) ‘_g

5
speed (in km/hr) on all the three daygonsta“t La3ehd garerdS ﬁ‘ﬁs@éof ;);& 0% g;,oﬂ;
- " 8 W 03’
pe covers the respective distay, ionthat 3108 (gm{iﬁ gg} Lﬂacjz:iboé o Ov?f@.
B o o e i ot oS L e, BT (500
i i 1 N (V) . v
] many houTs will it take him tq Compley, t: S AN s osdE I KOO &
( journey ? B 33‘;5);’:& ?
| (1) 8hours :1} - fomen
| () 12hours sl
! (3) 22hours e
{ (4) 24 hours W 24 HOBD
5. If ~pKqmeansp+(q 5. pKqeodp+d
pLq means p —q plq ®o® p—d
pMq means p X q pMq @0 pXd 5
pNq means p +q pNg @o® p+q ©O®
: . ; 9
which of the following equation is incorrect ? &: (500 “)gbééweée D0 S$J
: - ) BK3L4M6N2=-4
(1) 5K3L4M6N2 =-4 1) . _
L(6N3)N(3L2) = 670
@2 (8M7)M(7K5)L(6N3)N(3L2) = 670 @) @MDMTKS)L

(3) 5K6L3M4N8 =95
(4) 30N10K4M2L2 =15

(3) 5K6L3M4NS8 =95
(4) 30N10K4M2L2 =15

6 N o Y o8 erosd V4 foedS
6. A pipe ‘N’ can fill a tank in 1/4 hour and OHHOED DB HTE DY M, 16
another pipe ‘M’ can fill it in 1/6 hour. Both Ko&S® DOHHO. g7 Ers0EH JOHTFTIE
pipes are opened to fill the emPty tank, but BOGy YN BESVFOW, oS 1/15
after 1/15 hour a leak developed in the ténk' fotye  &ors& ej"go§e§ 28 60@5&'1)0
The leak alone can einpt)’ the full tank inJusi AB)R08. B0 es dolgdo S 112
V12 hour, If the both pipes Wer® opened ford” rd ergoSco g TR0, & 9

9 pm, then at what time Wil th° tank De oo Bodh DY BER, QA0S
emptied ? & 67508 379 @908 ? ©
® 920 pm e

@ 9.0 om (2)  9:30 pm

3 995 om (8) 9:25 pm

(4) 9:40 pm 4 940 pm
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7. Rajani has a digital watch that shows time in |7,

(6)

2 24-hour format. The time on the watch
shows 23:45. After passing ‘A’ minutes the
watch shows the time in such a way that the
four whole numbers are again arranged in
ascending order from left to right. Then what
will be the value of A x A ?

(1) 7569
(2) 8464
(3) 6724
(4) 9604

If E*F means E is the son of F’
E + F means ‘E is the father of F’
E > F means ‘E is the daughter of F’

E < F means ‘E is the wife of F

which of the following pair of people
represents first cousins with regard to the
relation given in the expressions; if it is
provided that H is the sister of P ?

Q>R<P+S and M*H<I+J<K+L
(1) QH
(2) MS
(3) ML
(4) MK

In a hostel room, five people P, Q, R, S and T
read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
has taken it from P. T is not the first or the
last to read the novel. There are two readers
between Q and P. Identify those two readers
between Q and P in the same order.

(1) RandS
(2) RandT
(3) TandS
(4) SandT

S8 SME ok ABeS SO @O &
24 K060 oSS’ HHOTRY, BIRS0E.
TES @y ddoho 2345 ST A
QAWAO& e3S Somsh D a“c;nﬁz !
Domgen  Jdy  os Bk f-_a&s»ga@*
OSIDBS Do TV BT

Bryevod. eoane AXA Densd DO
€900 ?
(1) 7569
(2) 8464
(3) 6724
(4) 9604

E*F eodm E ot F G3ng) 5085780’
E+F eodr E oo F &g Sol&y

E>F edr ‘E @ot) F o) 0850

E<F oSr ‘E ot F By ards ©ons
H QP &gy FSOm HBKBR, & Bot
3588800 aSDAS HoOTE
H0000D 180 oS I3
rAENeN (first cousins) €9YT KD ?
Q>R<P+S HOA M*H<I+J<K+L

(1) QH
(2) MS
(3) ML
(4) MK

28 IS KOS, 0HS S5¥ven P, Q, R, S
DOAD T 28 S ENAVIN TS T TN INTS)
OL VOIS S8 D SBared R 8
AT, DO DSETT AV S8 AP
0B SK0ETE. T $56> SADY Suncded
B DO 58 5°¢. Q HOA P 05 2%
TERD &Y. Q B P 05 &)

3D IBHOD  ©F  $%D  (EH0S
8o od.

(1) R8BS
(2) ROOASH T
(B) T8 S
4) SNBASHT

Scanned with ACE Scanner



11

(2

/101

55!16 ing stat
co asider the following ementsg .
10-
| An equilateral triangle in 5 g wil
the maximum area |
L “*Mpareq to

other triangles inside the sapq ]
A e,

II: If the height of an equilaterg) triangle -
10 cm, its area will he equ alels
: to

;9%@ .

m1.  If three sides of a triangle are 5, 12 ang

13 cm, then the circumradius of the

triangle is 2-5 cm.

Scalene triangle is a triangle with none

of the sides equal to any other sides.

Which among the above given statements are

correct 7

(1) I II and III only

I, 1T and IV only

@ I III and IV only

(4) All the above

. s 1
The sum of all the three-digit pauea
Jeave 2

numbers, which on being divided PY 5
¢ is the

remainder equal to 4 is XXYZA. Wha

Valueof Y 479

1) 9
2) o

® 14

17

10,

(4) 18

11.

(]

. éo&'
& (80O (DEESOD HONEIO - @5
L ok So%0S 4 oz 18P S
59808 258 L@?ﬁbﬁ‘e)&
KON BTTIVL £Of GoePO” .
10
| & DN
1. PR TARSAY (82020 &30Sk 1993@ cmf‘
ond, O 37050 3
&OENO0D. K
| e» 5
I |\ &0 Sy S E ” s
SHBas» 13 em OO, 18380
SoepSeod SsrQo 25 cm &0e00
- 5}
V. 2,88 19300 (Scalene triangle)

e3P en 98 Qe 20T OB HAFOTT

&0Cha). _
25 2D HEOIOS DO PO ?
(1) 1,11 605 1T :;:Léa

@) I, TI 805 IV S3(ad

(3) 11, TIT SHBS50 TV S

@) DIV

58 PROBRASYIN, 48 DIFSHS Fh0
WHOT @) Swreh ©03L dIra Hogse
B0 XXYZA. @008 Y + Z Dend does ?

1) 9
(2) 2
@) 14
4) 18
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(B)
Gs.-TGHO‘ . 5 P
(pirections for questions 12 - 15) (12 - 15 (54 &80 &S T 569 806
oad the following instructions carefully 8nd|&  (8on  HrdSOS <0 .;;350& :
answer the questions given below : EEINE Ao TN B RYSEN DTG

o 6 280 TOO®
Nandu and Mohan decided to sell their Apple 61 550y HBa%y DTS S APP 56050 AEDO
Series watches each at ¥ 42,000 to Karthik and 2.878¢3 T 42,000 SO S CPJ 25%
Ganesh respectively. In each case the selling price of Ao 33@@)0@5;\)@;6)- é' NTAR elal
42,000 was arrived at by increasing the cost peise oo orgor T 42,000 g v édﬁ)éé‘
by 25%. While Nandu gives a discount of 10% on the S0 [opsed T 12,0002 Wiks -
first T 12,000, 8% on the next ¥ 16,000 and 5% on T 16,000 8% NWelony mﬂaé U‘&i&) o
the rest to the buyer Karthik, Mohan gIVes a SN0 ;,a)ﬁ‘emwéo s85% adsT ﬁj‘is o
discount of 8% on the first ¥ 16,000, 7% on the next Soffencrdy @8 S T 160002 %

g i Ganesh. =y 5%
8,000 and 5% on the rest to his bu.yer . $5B050 DHADS TRV 5%
These discounts were however subject to the PN &

condition, that the buyers make the payment on SNoHD AT, WS &

_ L0 TR0

time, failing which the discount gets reduced by 1% S2A Gotraw, Fhffentdded coS"c; e

P — FoHBo DHODS, (HB FO0 BONS 10a)
o 1% $PeSHOB.”

h ents on »
12. If Nandu and Mohan got all the paym B <5 8c SOS BHATIE @)

3O0en FoBIWONS, BROS' &R
er250 SPOCNEND) S8 BTy - TS0

time, what is the approximate percentage of
profit of the person getting the higher profit ?

(1) 14%

EDSTEINT JOeh ?
(2) 21% 1) 14%
3) 17% @ 21%
oy @) 17%
4 9%

13. If Karthik defaults to make payment by 1 and
2 weeks in the second and third payments

. 13. 85 Bo®d 8w v
respectively, what would be the profit of eI BQOQO?SE

Noiidu 6athe salb afa watd 2 O™ 1 HOAW 2 FT°O Few PO
TS ©30E0S" S0E HDVIS 250 o ?

(1) 2 5,480
(1) ¥ 5,480

(2) T 5,545
(2) T 5545

3 T5

) 560 (8) ¥ 5,660
4
S (4) T 5,740
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{ 14 9 weeks, what would be the Profi t]::}ym“

15.

16.

17.

65;1Gf101

if Ganesh defaults in eacp (9
the sale of a watch ? M,
a ¥ 5,400
@ ¥ 6,200
3 T 6,500
4) T 6,800

What would be the difference iy,

Nandu and Mohan if both the bu‘;; Profits o
in each payment by a week ? TS defay);
(1) T 440
@) T 464
(3) T 488
4) T 520

Madhu purchased a bike in the year 2024 at
the cost of ¥ 78,000. It depreciates in valye
10% the first year, 9-5% the next year, 9% the
third year and so on, with all the percentages
applied on the original cost of the bike. What
will be its value in the year 2029 ?

1) ¥ 43,000
@) T 42,000
@) T 42,500
4) T 42,900

Neelima places an order for ‘P’ number of
sweets from Agarwal Sweet Shop that
produces ‘g’ number of sweets every day. r% of
the total number of sweets produced in 2 d?l}lv
fail quality check and are discarded- What W,

be the number of days in which the order will

y
on | 14

15.

be completed ?
(1) p
100g(1 - r)
(2) 100qr
P
3 _100p
(100 - r)q
(4 __100r
q(100 — P

16.

17.

&)

o T,
Kein (8 BOo% ToPES 20%0"5?3‘5%
NHoDE wond, TGO 0
SO )& eredo 2Oes ?
(1) ¥ 5,400
2 ¥ 6,200
3) ¥ 6,500

4) < 6,800 > O o
15 3OO
28 o Bweo T
2805 T O
(1) T 440

(2) T 464

(3) T 488 | |
4) T 520 y
otk 2024 H05B60S T 78,000 ééi ;3
BES Toffen TFE. (Bs12) E()os’aé;)é%» s
£6 R DD S SIS0, o
$0%e5y00 10%, HHDE éoéégé? 9 é
S H05SI50 9%, BS Ty SV &
2 @) FTEO SBODE, 2029
50583508 T Densd oS ©HE0H ?
(1) T 43,000

(2) T 42,000
(8) ¥ 42,500
(4) T 42,900

HO& D8 ‘¢ DOV DISOXD Creh B
B2 oforsS S D Hod P Do
DO ©Pb BROH. |HB T~ redyed
TAHDES  ISo  JIOST 1% ToEaged
SADES DHOV FEFCHVBBOD. ©ONS
0% Ty ©¥d N TS o
)0 ? -

) - R
100q(1 - 1)

20 100qr
P

@ 100p
(100 - r)q

@ 00
q(100 - p)
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There are 5 members in the family by the
names Ravi, Madhu, Mahesh, Raghu and
Praveen. Praveen is taller than Raghu but not
as fat as Raghu. Mahesh is taller than Ravi
but shorter than Madhu. Ravi is fatter than
Raghu but not as fat as Madhu. Praveen is
thinner than Mahesh, who is thinner than
Raghu. If they are arranged in an ascending
order, i.e., fattest to thinnest, who will come in
the middle ?

(1)
(2)
(3)
(4)

18.

Praveen
Raghu
Mahesh
Madhu

(Directions for questions 19 — 21)

On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for

children. As a part of that, Keerthi, Joshna, Pallavi,

Rama and Swetha participated in a race. They got
different ranks from 1 to 5 in the race (1 being the
fastest and 5 being the slowest).

The following information is also known :

L Keerthi is not the person who finished the
race first.

iy

II. Pallavi didn’t get the 5% rank, but she
finished the race after Keerthi.

III. Rama finished the race after Joshna, |

IV. The sum of ranks of Keerthi and Swetha was
equal to the sum of ranks of Pallayi and
Rama.

19.

Among the five girls that participated in the
race, who was the last to finish the race ?

(1) Swetha
(2)  Pallavi
)  Keerthi

4) Rama

(10)

N

=5 - v
o Soc, T Oy,

&. 1909
5065 wd 5 200 jjjg o5 }Eﬁé’:\DLém‘i
5

. 8D Oy
£ s g0 TET & S ST

So®) o 5 v
S, s Sirs g0 ST TS

v AT o) &,
BBy sty Baw 508 ONUT SR
a;)tlﬁn)‘;be>“‘<D QTR
& Hotno ISP 25€> 8w
BoeS (exeyr &) ﬁoﬁé A0}
BT sy o DN ) '
DS S ?
1) (DS
(2) Sa»
(3) Sar
(4) :
(19 - 21 (5 © §60 ArSaien)
pedsny Dok Sodsm BS DY eIy
0S) OFVTHAS 658505 DT HON
sbre Feden ABLromd. RONS rNor B
S 88, £°9), HOD, 8K, 35S P T, FH
BS 1 o8 5 8% VBB Tr50H00N
Ford (1 BHS JhS0STIO B
5 DoA™ &OO).
& 808 HEFTTE0 S BOBOA :
L 80 5005 BRoc SvAoDs 558 o,

I HON8 55 0308 OBy, o8 &8
B SHACIOS. 52 sose

ghar) $0°58 8 B S0A0NHoA
86 S60 158 ogo8ee

18. 2% Semomos 8

111
V.

mo? S TP s0%0e) e ?ﬁgoé@b
- PN
s mi&?&miéf e,
1 35
@) DR
@ 88
4) Oad
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22.

%i

¢ the ranks of Swethg (11

then who got the 4 rank 9 ang Palla\ri
20,

Among the five girls, Who_ could j,
ﬁnished the race after Pallavi ?

@ Keerthi

() Rama

@3 Swetha

4) Cannot be determined

— of Pooja’s age to Ajay’s age is 1 : 3,
The ratio of their ages after 8 years will be
1.2, How many years ago was the ratio of

theirage51=5?

(1) 3years

@) 4years

g | - |es.

(4) 6 years

Bhaskar bought a Piggy pank for his dauﬁllzt;:r

Kavitha, Kavitha started gaving her mOPE
T1 and every

On 1% March, 2024 she saved
day starting from gnd March Sh,e
more than the previous day. F3
date after 15t March, 9024 at the en o
her total savings will be 2 perfect s

(1) 10% March, 2024

@ 26t March, 2024

@) 17% Mapen, 2024
(4
@ 8% Mareh 2024

ot ha\re 21-

22,

A/
8
50 27
030 gvso 9
fgeb  SHOAD 2R
o, 45 07508 DI e
(1) 88
(2) &edd
3 IR
&
@) 33 E B
S 570 BREOB®
a1 88
(2) O
@3) B8 %5
4) mgmoﬁéo QS0 5 B 5
; S0V N2

3 BossIoe S0 @
1.2 &0eNOD. RIS

o0y D)8 1: 6T 3O

0560 B0 O
7

| 1) 3D0IST°N

(@) A DODSIT

(3) 5 DOSSITN

4) 6 Q0NSIT D

B85 HrSrT EDSE 28, DY argoSoed

Srrych. KD S dan)i® ey BORAO

FE0DOD0B. 1 578), 20243 & T 1 &
32908 B0 Jr) 25 BH Hod \DHS
G2 & S0 T S0 T 1 B0
SO TN0O. 1 ), 2024 &T°5H eIy
TS 0G0 TN PVISDS R 5O
(perfect square) OB  NRES 843
S0, ' :

(1) 10 378, 2024

(2) 26 5783, 2024

(8) 17 &r0), 2024

(4) 83rd), 2024
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Gs/16/101
Jaya, a shopkeeper, initially had ‘n’ Pe";; A
customer bought 10% pens from n, en
another ~customer bought 20% of the
remaining pens, after that one more customer
purchased 25% of the remaining pens. Finally,

Jaya was left with 270 pens in her shop. How

24,

many pens were there initially in her shop ?

(1) 600
@ 450
@3) 700
(4) 500

25. A preliminary test was cond_uct_ed' by '£a

recruiting agency which consisted | of
attempts all the questions in it. For every
correct answer 1 mark is awarded, while a

wrong answer is penalized as follows :

I One-fifth of the questions chrry
1/10 negative marking. :

II.  One-tenth" of the quesﬁbns.. carry |

1/5 negative _markj.n.g.:

III. Remaining questions  will

1/2 negative marking.

Unattempted questions carry 0 marks, If
maximum and minimum possible marks

scored by Madhuri are X and Y respectively, |

then ;{7 3;; is :
1) 4
(2 6
@ 2
(4) 8

carry|

(12)

24,

25.
100 questions. Madhuri takes that test and |

III.

BA%, Sosrearrhoren, INSE 0’ D& en
SOTD. 2.8 EHHE n 0L 10% DO
SOy Dhard, oged DTE  EQ6
WADS D) eeS 20% Tofien TFW, e
S0 5¢h HTE EHHB WAOS DAY OS’ 25%
Shffen Tarch. DSEM, 200 &S 50
270 DY MACrON. &N OSEIOS

- B0BE DY D) e Y OW ?

(1)
2)
)
(4)

600
450
700
500

100 (55) 008 S3AS [ ONE HOK B18TeS0R

ABYY O QG LTOIDR0B. S8 e
DS’ DT DO @RS )
DHNOD TRVOB. (DB IBS DIFTTDE

1 Sy @ 50c008, 5 QT8
(800 DGO BBSTE® DEOTI2 S0 -

L 008 30 (D5 0% 1710 SASS

&’m&;w GOLION.

s OB, | W 15 smas

QAP0 BOLTON.

DADS (HF O 1/2 SRSS Sy en
OO,

®H (HOVBYOBD (DO 0 Srpen

GOETON. STEO FBoDS KOR SO

QR ArBden SBAM X HOSD Y eond.
@ X-Y

€Y )R T DEND
1) 4
(2) 6
3 2
4) 8

Scanned with ACE Scanner




Vv

g6/16/101 = |
lassroom, a teacher (13) |
26. ;ndlag:; pumbers exist whic}?shked, t Ow - o & o ;\'303350
: e factons Ve thy Y |20, o8 S5 106" 28 aFTIEVT a8y
ek ﬂ: pw s of it d‘rl‘als ofits Qigiy, berty sowe 8, @88 > Q @5590 &3
ctorials ol 1ts digits ?» >t e
B wer of the studg " They What wl.]e HSOT O 3o, 30¢3 p S oY &
be the ans €Nt presey ther, 9111 0.0508E HOWELD D S TAL o oo &e
= ” V. €5 l
v 56 AT BRI ©RO
IS0 DI ?
2 63
(1) 56
3) 64
( (2 63
@ (3) 64
4) 172

' | < z 15
. ¥ F. am D‘ﬂq.));)§a(\) ?
97. Krishna, Suresh and Raghava to 27. 5%, D0 o Y g
d a busi ith th gether| o 19000 SoBokw T 200 >
started a business with the initial investments , . 28
* = B0LOTTR.
of T 15,000, ¥ 18,000 and T 20,000 Jepathed o @O0

) : Ho3$)80 ST CPYY
respectively. After a year, Krishna and Suresh e SEnm T 5,000 28050

i d their investments by ¥ 5,000
increase y and 22000 DOV, O Z 5,000

¥ 2,000 respectively, while Raghava withdrew |

" Z 5,000. After one more year, Krishna, Suresh &ééO&ao‘mel&; 8 ‘ia“& S$T°5S
and Raghava increased their investments by| £, T HOA o0 HBIXT 20%, 25%
20%, 25% and 40% respectively. It was $005D 40% SIS SD 2EP 22O
decided that Raghava would receive 20% of DORET L. THNS S D3y O §90
the total profit received by them for his extra TO8 HDYS Inedo 23085 20% POHT R
work and the rest of the profit would be HBAM WADS PO TO DRPDRO
distributed according to their investments. D880 HodH  TohD®ENod  ©
After 3 years, the total profit received by them QARoN0VDAR0B. 3 Jodebhyore  SUrsed,
was T 53.400. If the extra profit received by 08 ©D0NS Jnto g0 T 53,400, TN

tio of
Raghava was excluded, ther find the 12

] oS OASY N0 DITFONONDES,
n
profit shares of Krishna Ghafees. =

5%, TR OO TS W/wE), erered

() 56:63:53 (1) 56:63:53
2 69 -
@) 53:63. 56 (2) 53:63:56
(8) 59:63:
@) 59:63. 56 59:63:56
@) g9 Wicig 4) 69:63:56
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55/16/101

John has a piggy bank which contains
25-paise, 50-paise and 1-rupee coins. The_re
are 220 coins in all and the total amount in
the piggy bank is ¥ 160. If there are thrice as
many l-rupee coins as there are 25-paise
coins, then what is the number of 50-paise
coins in the piggy bank ?

(1) 45
(2) 40
3) 60
(4) 80

Sekhar delivered a 20 litre solution of milk |

and water in the ratio 3 : 2 to Bhaskar.
Bhaskar removed 10 litres from this, replaced
it with pure milk and delivered it to Karthik
and Karthik repeated this process and
delivered it to Varun. What is the ratio of milk
and water in the solution received by Varun ?
(1 3:2

2 4:1

3 7:3

4 9:1

In a new year party, out of the total guests,
60% are women. If 80% of the guests are
married couples (form a pair of husband and
wife) and the rest are unmarried, then which
of the following statements are correct ?

I All men are married.

II. More than 30%
unmarried,

of women are

Select the correct answer using the codeg
given below :

(1)  Tonly
(2) IIonly

(3) BothIandII
(4)

Neither I nor II

(14)

30.

28,

29.

S 5P @Sy D ersofy S 25-DIew,
50-Dden  HBakw  1-Greron  rEBey
BT ow. ot [odo 220 rEewn
BT an 805 DB ersodeS’ &) JIndo
T 160. 25-00 ~r@en 0B 1-6rarown
THen  Srcdly DE0pS  @o®, )
2P505S @) 50-DIOO B DOy
2)Oeh ?

(1) 45
(2) 40
(3) 60
4) 80

38 3:2 DAYV’ 270,65 20 DS ren
OAD AW EOAS 19T, HODB Tch.
20,0 @0 Hod 10 DB HJI,
R FR0S” D530 T EOD HBA%y

- oA 855 @080 S08a5%y 508 &

ATTV),  JSTHYB0 T S
BOQOTI®. IDES WONHD) TS0
2P0 HBAKD A3 AN Does ?

(1) 38:2 :

(2) 4:1

3) 7:3

(4) 9:1

§8 Sodehy80 e S0 B GOS
60% DO Ar¢en. 80% DO e0&Hen
JATaTS  Boeyey @rorsasde modyr
COErS) B WAS oSy OIS
LS, & (808 Fofreredst 5 BID ?
L QODO0SEr Dadresyss

II.  30% %0® %oy N0 dyrssen

B> oy eN,

AN RS50BS EBeredd SIBA0D HBS
QPR DOt -

(1) Iredad

(2)  II So7(eb3D

(3)  TH8a%W II Bodky

(4)  T0605w II Bodkyr sesy

Scanned with ACE Scanner



31

65/

1Gf101

[n a kitchen rack, six boxes ape ;
top of another. The red box ig fust Pt one .
plue box. The purple box is betwee above 4o

n
and the green box. The yellow box isthe black

the red and the black box. If fhiery, etween
aumbered from 1 to 6 from top ¢, bottoxes iy
the difference between the pogig;, m’fthen
green and the red box is D, What is t}{e() a:he
v

of Da/ 27? ue
1 4

@ 135
3 05
(4) 32

Pointing at 2 boy in the photograph Bhargay
said, “The boy sitting on the left is the son of
the wife of the only son of the grandmother of
my younger brother.” What is the relation
petween the boy in the photograph and
Bhargav ?

(1) Brothers

(2)
(3)
(4)

Nephew and uncle
Both are first cousins

Father’s brother

Consider the following statements :

I A Parallelogram having all the sides

equal is a Rhombus.
uses are Parallelograms;

II.  All the Rhomb
but the reverse is not true:
are,
L A Rhombus may or may not be 5%

e Rhombuses.

1 but all Squares ar
ven statements ar¢

Which among the above gi

(15

31.

correct ?

(1) Tand II only
@) ITand 111 only
@) Iandp only
@) All the above

32.

33.

e
bl SoeBe T8y 88 O P

z..ém“:‘ﬁ‘i'.) a.;éeﬂ &oﬁ)aac‘bw@)m "'-"oj@ ‘6@?
e 22 2 @00, ohe 600 T 520
&8 558

S s Ay 35 ‘
55605 RV DB 4y PR

e v 200D O <50 &
;?a ?ija)%e_n 2 &obd Lég% 1:))5 &5

. 0SDES, esBONWI »
6 S8% S8 o o
D P FO0 3058 DTS
D3/2 Dend doed ?
1 4
2) 135
3 05
4) 32 s i
R A O 22%:23 5\?; .):51
2GS AT o) ¢, “o e

wemon T SIS O &

iﬁiﬁﬁééﬁ)ﬁg ‘goaao 0 D3 ?
(1)  dSoen .

@) Bodeac $HBa%D &

3) ARy RO AN SY]

@) SO FSB

&3 (808 (DELIOD HOHe3od0ls

L ©) BHO® ST GOB ST0SE

5e8E0)230 TP0DR @e)eHO08.

®) oPORVED - | D3roedd
BB, T O IIrods
HEBIYFEN TOVVEN 5%, -

002D RSO GotID) B
GOGENFIDN) TR @) WISBRreN
TroRVREN.

2 AQYS IDELIOS’ DD OB ?
(1) TS00%0 IT Sr(essh |
(2)  TIHO0% T SredsH

B TO IIT ST

@) DI

IL.

III.
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36.

6s/16/101

34.

An olectrical lineman has to climb on a pole of
height 50 meters to fix the wires. In thle first
one minute he climbed up 5 meters, in the
sext one minute he slipped down by 2 meters.
Further, he repeated the same process till he
reached the top of the pole. Then at what
height was he at the 24'% minute and how

many times did he have to go upwards to
reach the top of the pole ?

(1) 41 meters, 12

(2) 39 meters, 11
(3) 36 meters, 16
(4) 42 meters, 18

Sandeep invested a certain amount in
Reliance Infra Private Limited which offers
compound interest (compounded annually) at
5% p.a. and an amount equal to 50% of that

amount was invested in Reliance Jio, which |

offers compound interest (compounded
annually) at 10% p.a. The duration of

(16)

investment for both the companies was
2 years. If the difference between the amount
received from both the companies is ¥ 6,965,
what is the difference between the sums
invested in the two companies ?

(1) ¥ 7,000
(2) < 8,400
3 ¥ 7,900
(4) ¥ 6,600

Kalpana’s.project report consists of 40 pages,
each of 75 lines with 80 characters in each
line. The lines are reduced to 70, but the
number of characters is increased to 95 per
line. What is the approximate change in the
number of pages ?

(1) -75%
(2) -10%
3) -12%
(4)

- 14%

34,

35.

36.

P3N DACHEVE 2.8 Ve 8ES B8 S
50 08 DY &Sy QOBODE 5O,
QGE A0S 5 e D dAersm,
ST A0S 2 s DS 8oddy
ZPO Ay, @evy S 8 TV HEB T
DGR, DT 9h0 TIF°CR. OONS e9¢bDd
245 AWA0S' Do IHS  Goerdy
DB FS D8 THTIEAS @b
DAY DE I¥°O ?

(1) 41 &M, 12

(2) 39 e, 11

(8) 36 &M, 16

(4) 42 DO, 18

HoBD Foh JwTR) BOAHS) AN
123 OXBES' DEPDE DEFD®, ad
5% p.a. SEFN0 SB (HDOSSITRE 3G
50D HPBS) @odN0S HOAD e
B0 50%8 HIFSS D) Reliance
JioS DEPDA DEFS, VO 10% pa
JRFI0 IBY  (HOSSIT°VE & 0D
JOBS) ©woHN0B. Bod oo
DEPDE SO 2 DoNdedyTrew. &8 o
0000 DHOA FodYd AL A
A§B500 T 6,965 ©ONSB. &8 BOR 0DV

DEP2A DES FInT 8 K05 B Doch ?

(1) ¥ 7,000
(2) ¥ 8,400
(3) ¥ 7,900
(4) T 6,600

) | FBF OFDS” 40 wfen G OW,
25y H08S’ 80 ETOS 75 B T ow.
283 DoBveD JoP§D 708 SHoD), S T®
Do 285 D088 958 DOAINI, e 89Y

T,  DFe  HoPIST SIS )
QAT O ?

1) -75%

2) -10%

3) -12%

(4) -14%
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A, B and C are hired for g ..
87 Working together, A and B cay Eéltjlmg job. | g7
12 days, B and C can do the Sa].nd ]Ub » .
§ days, while A and C can do it in (;_ Job in
Then how long will it take, if all of 4, 6 days,
together to complete the job ? em work
- ;
3— days
(1) 13
7
7 — days
(2) 13 y
7
3 — days
3) 12 y

38.

39.

@)

5
7-— days
(4) 13 y

The letters of the word ‘ENTRANCE’ are
arranged in such a way that all vowels are
always written together. How many such ways
of writing the word is possible ?

(1) 1080
(2) 1440
(3) 1384
(4) 1526
If 12t June, 2024 will be a Wednesday, then

what day of week will it be on 19t November,
2024 ?

(1) Wednesday
(2)
(3)
(4)

Monday
Thursday

Tuesday
st and {: a.Ci ng

S Q
e turns 135

Umesh is standing in 2 bu
the North-west direction: i 45°
anti-clockwise. After that % clockwise:
anti-clockwise. He finally turns %O
Which direction is he facing JE
(1)

(2)

North-west
North-east

W South-east

39.

40.

O™
28 =50m0¢30h 1D €50 AP 5;;5?)(0 =%
SothborTy 8. A SO0 B e =
12 BreeS D SoHdHto), B Sob G
HAD 8 o) Soied® o 2
en 16 EarereS S, T = oy

4 BOHTRS 9008
Jossrer0 DES0E ?

(1)

s vt 0§D @) @TOID

s  EOR O ‘oo @RT
€908 YOG OW. - ) 2eNSH0E3 HS0
FOHEPIE D), SPFED g 0YTTON ?
(1) 1080

(2) 1440
(3) 1384

(4) 1526

12 258, 2024 20IVO ©ons, 19 SHo1b,
20245 3065 & B @508 ?

(1) 20080

2 &>do

3) HsS0

(4)  NolgIB0

&N 2.8 DFoBS TSy OIS Jod
S).L0. @D @D 135° @DNS; OFS'
SANTR). &3 ST SN 45° @ANS
O3S DDHTE®. ©BD  DISE  90°
DI5O3S” DX W. OSB3 :
O3S’ ey ? e W

(1) 080
2 B
4)  esion
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41.

5 _HJZ“’Q

If 892 x 415 x 7-69 x ? = 1565-67631, what
will come in the place of ‘7’ ?

(1) 618
(2) 496
38) 484
4) 55

Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
the proportion 4 : 5: 6 : 7 : 8 and overall he
scored 60%. In how many subjects did he score
less than 50% of the maximum marks ?

1 1
@ 2
3 3
4) 4

It takes Madhu 2t minutes to compléte
Form-A which has k questions and 3t minutes
to complete Form-B which has k/2 questions.
If Madhu answei's all the questions, how much
more time does he take on an average to
answer a Form-B question than he takes to

answer a Form-A question ?

(1) 2tk
(2) 8t/k
(3) 4t/k
4) t/k

(18)

41,

42.

43.

8:92 x 4-15 x 7-69 x ? = 1565-67631 OWNS,
7 TR0 Sty Densd Do ?

(1) 618

(2) 496

3) 484

4) 55

D35S 5 HBPOS® HOFH FFBEATIRD. (DS
JBTLL 509 SrBuzen 28 DGO GOETAW.
& 5 HBPOS’ 0 Srdyen 4:5:6:7:8
DAYV Gar)on HOAD INSOMT S
60% 6 T, @SH ) IFHoS
1O SrdnesS 50% 0T S50S &b
TACD ?

) 1

2 2
3) 3
4) 4
k (D30 &) FOEN-AD 50 ToHhads
DGO 2t ATED HEOSOD HEASD k/2
D &S FEHN-B 0 ToHadE 3t
QDaTeD DSOS, D @) RSERYSEN
JEFTIVR, @S0  FSS-A 0% %0
QAFETI0 ASIEVE BET HHen S0
ﬁvtﬁﬁ:-B@é;é‘.o QAP S0 QI ST
EATaTANIN] 2O PVISVYENY QAo
BOZOETE ?

(1) 2tk

(2 8t/k

@) 4t/k
4) t/k
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(55!'16”0 oV

A professor of pharmaceutical Scienc
. classroom defines that t]}e ‘half-life
substance is the time period in whicl, .
substance becomes just half of B, e itru.g
known that the half-life of a drug Adrel.lal, is
is 800 years, then after 3200 years, 120¢ gnine
Adrenaline becomes X. Which of the follOWinthf

is : possible value for the sum of 5 Bt
X?

©8 in hjg
of a dry

(1) 12

@ 285

3) 225

(4) 375

Chandra is a confused typist. While typing the
numbers from 600 to 799 (both included), he
typed 8 wherever he was supposed to type 6.
Then the total number of times he had typed 8

1S :

(1 180

2 230

3) 320 ~{3
4) 300 ;

. = eries :
Find the incorrect term in the given 9

193 140 97 62 35 16 5
(1) 62 |

@ 97

@) 140

@) 193

44,

46.

v @

Fa : 'o,
0\0 \‘%

2,8 dromdrsedsd P3N0 Bl ehed ,5:';
eSS LAY Horgo oY @q@;&

wod) & HoGo TS Lo Lr\her @ @(é
B50H S35 @ DB FDOTT D eo| B0 -
THG0 gy, egroiney 800 H05€ 0"

200
wond, 3200 N0SHSITO sorsd 1

5.
R
rswe BSOS X ™ o Y

808 &S X SV ey @O
55305505 Desd DO ?

(n 12

(2) 285

3) 225

(4) 375

S0l Kodoigos &Sy 28 DR, 600
SH0B 799 S8R &) HoPLOD VD
F0SyHa (BOdT DSV, ©S®
6 BD Tord)d S 8 O W TR,
©HIE BB 8 HoWS O WY TIS 0o
QOPS -

(1) 180
(2) 230
(3) 320
(4) 300

& (808 I50AES BSBS S &)
@08 HBohod :

193 140 97 62 35 16 5
(1) 62
2) 97
(3) 140
(4) 193
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47.

49.

Ganesh donated 50% of his saving of
Z 1,26,588 to Ayodhya Trust and he invested
the rest of the amount at 10% compound
interest per annum, separately for his children
Krishna and Veda in such a way that when
they attain the age of 18 years, they would
receive the same amount. The age of Krishna
is 13 years and that of Veda is 11 years. Then
the amount invested for Veda must be :

1) < 28,204
(2) < 28,640
(3) T 26,840
(4) T 28,460

Find the Mean of the following data (correct to
two decimal places) :

Variables Frequency
15— 25 - 4
25 — 35 11
35— 45 19
45— 55 14
55 — 65 |
65— 175 2,
(1) 3926
(2) 40-26
(3) 4156
(4) 4265

Find the number of triangles in the following
figure :

36
32
48
52

(D
(2)
3)
4)

(20)

47,

49.

KESRL 505 Sre) T 1,26,5886° 50% 0T3S
1LOR8 Dorgorr TR HOABD  MADS
ITY)  DOSSITVE  10%  SESRE,
DADAT 55 DN Sgn NOCH e o
VEPDA DEFD. 18 SoSB TN QOB
SHFS, T WD @ 23 TR
@ONZ0EFS. Foxd TWFy  SAD)
13 DHoSSyoven HOOH BE  SA0Y
11 Hossyoren. @ I 8o
$DISIO™ EPDE DES IS0 :

(1) ¥ 28,204
(2) T 28,640
(3) T 26,840
(4) T 28,460

& 1808 &S&0% 0§ SHFIS0G
(BO& &7°0% TR DS800B)
0006 DI2)$0
15-25 4
25-35 11
35—45 19
45 - 55 14
55— 65
65 — 75 2
39:26
40-26

41-56
(4) 4265

& 18od JsoS
LRS00 :

(1
(2)
(3)

BHEO  HOWLD

36
32
48
52

(1
(2)
(3)
(4)
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551617 (21) &l
boys na'InEd A; B, C D
Each of seven _ DR, p . " @é‘ rjb'rf)l
' diffe nd| 5o, D, E, F 8050 G e0F
G has an exam on & GITETent day o¢ Week {k’ S S5y sy 5.4 B8 TGOS P
starting from Sunday and ending ¢, Saturda’ DeotHS eeryoned’ (H 2.5 .
y

of the same week. Only two persopg h

ave the!
petween C and A. B L elr

exam as hijg o
. i before E. C - I
jmmediately has hg exam

immediately before F. Only G hag e -
e Which “of the following Option,

s
represents the correct match of a boy anq the

day of his exam ?

1 A: Thursday

@ G:Friday

(3) C:Tuesday *

(4) B:Monday

Consider the following Assertion (A) and
Reason (R) and choose the correct code :
Assertion (A) :

A person with AB*V® blood group is called as
‘Universal Recipient".

Reason (R) :

A person with AB*V® blood group has A & B

antigens and Antibodies in Plasma.

Code:

(1)  (A) and (R) are co

correct explanation of (A):

put (R) is not ¢

() (A) and (R) are correct,

correct explanation of (A).

(A) is trye, but (R) 18 false.

rrect and (R) is the|.

Both (A) and (R) are false.

51-

I35 Brd D68 Gotnod, &
508 FEosD of 608 42580
SHN0E. C B0 A ©F HOS 3500
A& Ssedo Srdd -0 288 goc. B
S Swocd E & HOE s C S5
S0 F & 5885 Son. A Sorged G S0

Sr S 68 wotwod. & 80O DoDES
DO eeryon BBNEy OB 23ehcS) SO

@8 HBE B SrDRN0H ?
(1) A: ri)d)a"éoh

@2 G:HE>60

@)  C:DoNFTE0

(4) B: &80

§6c‘5 B9DEBe (A) HOA 5°6€0 (R) (SIS
HBKB0S08 O  DDS  TBD
2ONTOR : :

) 85 (A) :

AB*® 28 (rD &) S5580 ‘0rSS8 S
BONTDOE’ @0ET.

5°0e20 (R) : |

AB™® 28 (D &) 5588 S’ A & B
OSro8lZSen 8o osroderden
") OW.

g6 : ;
(D () DO R) HBOD O (A)
QALY DTS DIBeD (R), |

() SO (R) DS, SR (A) Ty
0B DaSBed (R) 57D,

(A) D230, @oN (R) &3)).
(A) DO (R) BOLT 63).

(2)

(3)
(4)
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52.

53.

Bharat Expre

(2

Choose the correct suitable figure among the
four alternatives A, B, C and D given below
that would complete the given figure matrix.

A

A B C D
(1 B
(2 D
3 C
(4) None of the above figures can complete

the matrix

Vande Bharat Express travelling at 63 kmph

can cross a platform of Visakhapatnam

ilway station which is 199-5 m long in
How much time would Vande

ss take to completely cross (from

rai
21 seconds.

the moment they meet) Duronto Express

157 m long and travelling at 54 kmph in the

opposite direction to it ?

2)

53.

(1) 8 seconds

(2) 10 seconds
(3) 12 seconds
(4) 16 geconds

52,

&

BSOS Ty

Léa &% Lo)'if‘ o HBO™ D
DGy Osren A

173G DTS D&,

Srdysiso g0 B0 98 o

QOHE0A.
?
A B C D
(1) B
@ D
@) C

@) I DD SrsyE F°8 TONSY

63 8.2/i0 JHo& (DATrSoT S0T 73S
DBV 1995 &S Ry &)
ITPIOY0 TBS VWS FEFEOL
21 EXS OB, 157 erd B
580 S0TerES YWD § $5ABE OIS
fotddy 54 8./0 Fros |HAsrBS)
808 YDV JAT D8 (ércb
EOVS 890 D0B) S0T2rSS NNEREY

D0ed DaDONO JESHOEA ?
(1) 8EW

(2) 10 VED

(3) 12 DEWY

4) 16 VDED
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55.

G§/16/101 E—— (23) @é
4y the followi? - And angwar 2, |80
54. Sizszon that is vent:iiow_ This Cha:rrg;, the |54, & (Bo® o wBD &2655@(60 69&350&'
a mber of students that APPeared £, VS 295203 (D350 SRS~ »BZ.50
the nu minat for ang ch. o
assed B.Tech- ex8 100 from diffe; X 2024¢5° DA 1TO D0k B.2¢ 'Z’,)CD‘fS@c)
fm«, in 2024. e SEBS B0 GRHBO
Number of St;::]? t:':;;ho APPeareq for DO T3 SrES: h HBE%0
and passed B0 L TOM differcy, | FSSTHOS'D DG 1T £08 BT = 70
o 8BS 2B dAHBS dorsHe DO
3501 - 350 300
3001 50 10 = 3001 270 [ 250
2
| 225 250 o 250 g5 .0
i 20
2004 L i 200 1 150
150 150 ¢
1001 100 +
50]' 50+
"pr mr Oor Oor oy N gg'a
=" Kanpur Madrag Pune Tirupati Bombay s8R FE 8o
] Appeared B Passed [ 523B S W GORBITD

The number of students who passed the
examination from IIT Kanpur and IIT Pune is
what percentage of the average number of
students who appeared for the
examination from IIT Madras, IIT Tirupati
and IIT Bombay respectively ?

(1) 60% and 85%
(2) 64% and 90%
(8) 65% and 75%
(4) 62% and 90%

Read the below given statements fpl_lowed .blj;’
conclusions. Choose the conclusion wh.lc
logically follows from the given statements :

Statements :
All professors are doctors:
All doctors are engineers:
Some professors are lawyers.
Conclusions :
I. All professors

II. All engineers 2 o
III. Some doctors ar€ lawy

are engineers:
re lawyers:

(1)
(2)
3)
4)

Only conclusion 1 follows

Only conclusions I and 111 folloW'

55.

H% s )B B0 IIT S8 x?lg& &ff;g
GBS oo DODS X v
T B%HHS SHB0s IIT 2023 OB HBE B

DS Ao D HopsS  Doed
B0 ? (550D (€0 S :
(1)  60% OO 85%
(2)  64% DO 90%
(8) 65% DO 75%
4)  62% SO0 90%
G (800 OIS INFOSOD SHBO™

AYTOD  IAS0B. 2D IDELSO
DOG =HEOT ©HIBOT BT O
dowFod: :
(D505 ;

I DOE0NE® Jcvgen.

SFO0NEX OBV,

SORL (DI e,
Aoy e : L
L 18 08088r 202K,
IL. 2023080485 eraHe.
LI T0& Sehzen era.
ST290 T A7 ©HDOD0A

O7e0"@) T 08 asw 11T oS |e$ 33y

LOINISTa v To W
ST T 5O 11 AR
(OINVE e TN TO N

ST T S8k 1T S5
OB | B3

(1)
(2)

(3)

(4)
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5

6. Assume that you are the polling officer of a
polling station for the general elections 2024

and the polling booth is in an area where

Maoist prevalence is high. During the day of

polling a group of Maoists come and try to
disrupt proceedings by terrorizing the voters

and firing guns. What will you do ?

Immediately stop the polling and inform
about the

(1)
your higher authorities

incident.

Ask the police to resist the Maoists by
getting additional force. ,

(2)

(3) Inform the police force stationed there

and ask them to ensure safety of

important documents and EVMs.

(4) Ask your subordinates and voters to

revolt against the Maoists.

If a circle touching all the n sides of a polygon

of perimeter 2p has radius r, then the area of

the polygon is :
' p+n
1
(1) =
(2 (p-n)r
3 @p-nr
4) pr

(24)

b6.

57.

@)

h

Iy

DB A DY A Een 2024 S 2.8 FOoR
VASK  FOOF OO @D Oy

S.ID"SQ))F(Q [Br2e$o DBy &)
rososS’ e  SFOOR TS GOSN
2rDOB0R, FOOF Brd  SrSonipe
AN T ORI E SPI N o INVIIATO M S SEL MO
OB  ordes SO 282

S8s8erredy wosoodo $ON0Totnd
0D 0T, e W D BFE?

So06r3 FOOD D SVIR, VO
%800 & GI1EosHof BOch

(D

BODO.
2  SONOD €955 2O
DB HEQ %) 8 &)

SrSTanREO (HB0E3050 §BO.

068 &) FOH voroHd SO
ToHBOo HBAH SVPIS  J&eN
DB EVMe H5e5 QF*80TIN0Q
8 §E&o0.

3)

S ONVOF SsRTEOMT SE0iH2EN
TRV N B80S Frow eSO
SDB0%W 2,808 e9csiicso.

(4)

r Q";R)‘Qo e 2.8 590 2p HEPTexed fHe
2I0ENE B0 @) IJew n  &8S,
B B DIVNE By ITOL0 0
)0 :

(1

(2)

(4)

‘
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59.

ation club, Sam, Gauthan

Anup Were pllaying cardg
Gautbam ‘T YO BiVe me g,
ve 8s many as Anup has
ree cards, you will haye a
give b Sam and GaUtham
ards more than what Dee

her have. If Gautham

ADUSP s than what Nagesh has
amber of cards be 133, how
ham have ? :

- Sam
€ carqgg,
and jf |
Many a5
theu’ler
pak and
has two
and the
total 1 ; any cards
does (Gau

1 35

@ %

3) 2(].

@4 25

The question below consists of a figure A. Yoy

have to find out the alternative figure from P,
Q R and S which contains figure A as its

DA

A

A P Q

=
0]

(1)
2)
3)
(4)

w o o9

: har is coded a8
In a certain code language, Bl coded as

Uttar Pradesh, Uttar Pradesh 18 gam 18
Punjab, Punjab is coded as Assam, ‘?S e and
coded as Goa, Goa is coded a8 el m‘whic'h
Bangalore is coded as Sikkim- i mntl)’ by
state was an ATIMS inaugurated e .

the Prime Minister of India ?

(25)

"8esh, | 5g,

59,

60.

(1  Goa -
(2)  Assam
@) Punjab
4)  Bihar

&)

BHE

2.8 B8GHAS §5ES° D, TS, ST o
SO WP WSE @@@m@-m e
Teb S0 mer eotsrcd, “eds w“ﬁoméoﬁ,
sRen AR, O I @8R p
5805 S Do Sarck sRen A
BHE & DArSor sHen GOLToX: 4 oD
200050 TS B s sheo SO Bes
BIE S0k ey a0 SH6 BT 2,
0T 10 dB0ped GRT0- Sh .
GO §0By T &5 BOLD

LOPS
Bk o R V8
5 GO S e

133 eond, TS OFO
Gy o ?
1 35
@ 45
@) 20
4) 25

808 DS A$o A, & BHSS &&2;
Demgeiryod P, Q, R 2B S W&
oS ariorm &0 N SHFI0E :

A DAY

A P Q R S

(1
(2)
(3)
(4)

o

28 AR §& A, HIBD &S DTIr,
GEODBTD D0STT, HOB & LI YOrT,
OO Farm, Faed ZoHLEEm SHOOKM
BoherdHD Do F&E TIXD. wons
2768 D adse D 01ROS" JanSy

(AIIMS) |r80DocrE ?
(1) fae

(2)  ®@Jr)o

@) dozrd

@) DHE

Scanned with ACE Scanner




61.

62.

GS/1G/101

(1) IandIII only

Part B (i)

Science and Technology

Consider the following statements about Seed
Vaults :

I Svalbard Global Seed Vault is a facility
on a remote Norwegian Spitsbergen
Island, and it is the world’s largest |
secure seed storage vault.

II. India’s Seed Vault is located in a
high-altitude mountain pass on the
Chang La in Ladakh. '

II.  Indian Seed Vault is a joint venture of
National Bureau of Plant Genetic
Resources and the Defence Institute of
High Altitude Research.

Which among the above statements is/are
incorrect ?

(1) IandIIonly

(2 TandIonly
(3) IIonly,

(4) None of fhe above

Identify the new sites in India added to the

list of Ramsar sites on the eve of World |62.

Wetland Day 2024 :

L Karaivetti Bird Sanctuary

II.  Thol Lake Wildlife Sanctuary
III. Pichvaram Mangrove

IV. Magadi Kere Conservation Reserve
V.  Bhindawas Wildlife Sanctuary

Select the correct answer using the codes
given below :

(2) I and IV only,
(3) TIand IV only
(4) IandVonly

(26)

61.

2B M)
PS) woh w102
LS oy (Wb P HOOD & Sos

(08LSe% HBKBoS0
L 58500 Bob & o9 ODardho
OFE  TBIBONS RIENBYS

BsHoS Doryen BOLGo  28A0s
L0 2O (DH0WOS'T 08 Y
DEE DS HE FS Q.

I zrésSio Mgy & &G odd &
T0f erS IBS DB rFoS, $¢

&od.

I 208008 &6 o9 @38 IASS

arsS @D FosS BIEBS OFTRD
DB ADI) VORELTEE e
adarsd  OV6) Soasworr
Q80T ON.

DS DS (DELSOS QB S ?

(1) T80 IT S|

(2)  Io8asw III S(ehad

@ HDawed

4) 3D 57

B00F DSE Voo BSHBISo 2024
QOSBIO™ THHE DS 25D S
TAONDAS  rESTIoSTD FroToD
H8o%0d : 5

L $338 v%He 5arSeaso

L 86 360 SS5remes 23085250
1. dMs80 DS e%Hen

IV. 918 38 858 505 Bb g

V. Domrad Ssgareve RS0
Obd BI52AS FHOSH &HTrfod $39
QATPTTR), DOHES |

D) T8 T (e85

(2) I8y 1v S (555

(3) .I&&)&cﬁp ANV

4)  I80% v S sH
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GS e following Statemge S sl _
NEL e . SAT ll‘ y a out
5. O oy Egineored SATEllte! (Whgay) 2168, 030§ moa§ mespey wisam 0000 &

WESAT is the first Indian Satellit 1}, B0 1D8ESO& HOHESos0b
0 be

1 d aﬂd d r) =
fully designe evelopeq by Womep L b akdrd 7R @5f9w5€5 eso)

students t;‘f Tt:}ll ?ahadur Shastr; BEyod 56 DS, FEGS'D DT
[nstitute 0L nology for Womep Sorshod om GrroBo 288
Kel'ﬁl&- ¥ - e_s
2005 syl Dopasds IO
j WESAT wes launched ghoey . 2 68a%H G|fsro WESAT.
PSLV-CS8/XPoSAT  Mission, o, - o
of the secondary pagjo.. :e L 1 2856, 20248 D500 Oéf
1% January, 2024. " 288t PSLV-C58/XPoSAT D002
¥ | WESAT |H&3A0tsG08.

. WESAT is meant to study how rainfal] : S
refills underground water in rural aregs I | rdSSoS’d (e oS
of India. ; SEFB0  BTHS) ag‘le_jnog’)o oder

Which among the above state D0PH0E @550 i

Statements are
2000508.
correct ? 3 (WESAT) &5
| 2 DELIOIS DD HBID ?

(1) Iand]II only
; (1) I8a% II Sr|ehadd
(2) II and III only
(2)  IID8A5W I Sr(ehad
(3) Iand III only
(3)  I8aw III S5

(4) All the above
@) DI

- | |
. Which among the following is the worlds I g4 & (806 &365" 2050 w638 @Grs ssRox

; 1
country to propose a tax for agricultura OFIV), THOTOLHH SIS &STroerDy

emissions to achieve the emission et D) DHOTTO DSBS
target by 2050 ? BI0BOSR Focse3 Bio & 2 -
() New Zealand W srgmerod
) Mexico (2)  DYE
@) Brazi Zj @32&2
[Dlele]
@9 Ar gentina g . ,
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nsider the following statements about
Garbhini-GA2 :

1 It is the first India-specific Artificial
Intelligence (AI) model which accurately
determines the age of a fetus in

pregnant women in the second and third

trimesters.

II. Garbhini-GA2 was developed by the
researchers at the Indian Institute of
Technology, Madras and Translational
Health Science and Technology Institute
(THSTI), Faridabad.

Which among the above statements is/are
correct ?

(1) Ionly

(2) IIonmly

(3) BothIandII

(4) None of the above

Identify India’s first indigenously developed
CAR-T cell therapy for which Central Drugs
Standard Control Organization (CDSCOQ)
granped market approval :

(1) NexCAR19

(2) TECARTUS

(3) IND YESCARTA

(4) BREYANZI-BH

(28)

65.

66.

Y

Garbhini-GAz %600 808  (WELSO

DOEBosod -

L =8 Bods O &
Bsrdéos® #0)8 (R0S Dodo
QB0Ey 508000 DV Sorr
Dowod DS rESaN-dQD
53 THeSY (AD IS,

II.  Garbhini-GA2 Q ROBONS ASYEIrsES
8D BF)ed, DTV HOAW 1ErI)
BASS D 1Y) @o& Vs oFd Al
DerseS  (THSTD,  HOmer&S'D
HBFCEeN ©9SHE TF.

D (DEOIOS’ DA/DD IBID ?

(1) ISredad

(2) I Sr(edad

I 8% 11 Boksyr

D 5D

(3)

4

S0l TR (DSrere AODOSE  NoY
(CDSCO), B IS0 FodS
rESTH0 T, LIS BYHorr
0DIYE TOHDAS CART DS BTEH
N800k :

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA

(4) BREYANZIL.BH
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101 )
1|G!r statem
65/ - the forllo“‘lﬂgul . ents ahoyt the
sl Green propulsion systen, that was

7 . o0 0US

82" gemonstrated in space o ISRO’g

S5 P
58 s
It was developed by Bellatrix Aerospace
private Limited under the Technology
Development Fund scheme of DRp 0.

Green pmpulsion system s op
qnovative  technology which 5
non-toxic and environmentallwariendly

propUJSion system for low orbit space,

Green propulsion system is ideal for

1L
missions with high thrust

space
requirement.

Which among the above statements are

correct ?

(1) IandIIonly
2 IIand III only
3) Iand III only

(4) All the above

Indian Renewable Energy Development

Mgeney 1td (REDA) has signed °
Memorandum of Understanding (.MOU) -

s le
Innovation and research in the renewab

tnergy sector with :

O g Madras

@ nr Guwahati

9 1 Bhubaneswar

(

67.

68.

: 2SS @
ISRO G3w¥), PSLV-C58 o S =5 (S

DEHI0SOM (80928 SO
IS DS H0D & (80O
HBKES0S0b :

.  A&59 DRDO 5%
B3oDDoS o0& @
Beressy DB RIR (23
@SR B0 2

%

I (S @008 2 eF6 28 2

v bit
osDES, S50 858 ¥V (Low Or 1§
space) a3 ~d e

$BG50  HOTSEE-eETO ITFORS
29.

0L (AS @&H8 D
esoTes @080
ZINVRINIAN

2> (DEOSOES DD DT ?
1) 1005 I ST
@) II805w III Sy
(3) | I S>80%0 I S50

(D5

2520%
pio 8%
oeb

s @08 1B
g Sr(dOH

@ 3N

B0B0HS BITESNS AN BIOHDOES
2Q) OWVE (IREDA) HSD0E) 8 206565
Boffoes’ e B@eDn DO  HOFBSe>
g0 & (808 &8S BIE eSmoS
2,900 (MOU) R D080 TVOA -

(1) 2098 DT

(2) 283 HSIES

8 209¢ ST 6

(4) e 27023
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69.

70.

Consider the following statements :

I. India retained the 40th position in
Global Innovation Index among the top
innovative economies globally as per
Global Innovation Index (GII) 2023.

1I.  As per WIPO Report 2022, India is
ranked at 7™ position in terms of
Resident Patent Filing activity in the
world.

III. India improved its ranking to 60

position in 2023 from 79 position in

2019 as per Network Readiness Index
(NRI) 2023 Report.

India secured 42" position out of the
55 countries in the Global Intellectual
Property Index 2024 as per the 12%

edition of International Intellectual
Property Index.

Which among
incorrect ?

the above statements are

(1) LIIandIV

(2) II,IIandIV

(3) IIandIV only

(4) None of the above

India’s indigenous Prototype Fast Breeder
Reactor (PFBR) of 500 MWe capacity at
Kalapakkam was developed by :

(1) Bhabha Atomic

(BARC)

Research  Centre

(2) Central Institute of Mining and Fuel

Research (CIMFR)

(3) Indira Gandhi Centre for Atomic
Research (IGCAR)
(4) Bharatiya Nabhikiya Vidyut Nigam

Limited (BHAVIND

(30)

69,

70.

-

Iy
& (808 (H¥%erchercs HOKEIOI0

L fad 98355 @20385) (GID 2023

Wsrdo Fad adisnd 0G5S
2SS0 N 4055 PN,
QENNZF0H. '

II. WIPO 36% 2022 (500, (HD0H0E
B2BosS oS doh sOssarare
$80mT 2r8STH0 15 FS0S &ob.

I556), BASD 0B85y (NRD 2023
JBEE (HFE0 erISTFO 2019 °e3 795
S0 Sobd 20238 608 FAS 38
& ors080H ENHDBDZH0E.

BOLBINSS  ROBBHYSS sl
20T6) 125 SRS 5o Oad
20BBH IS | BoTS ) 2024’ 55
SrosS réSsio 428 FR)
oHob.

I1I.

2 HEOIOS A ) ?

(1) I8 IV

@ I I 8% IV

(3) IO IV Se(ehsdH
(4) D3R 5

502840 SQ 500 MWe 0850 Hey 23S
0532 \SFEVD Y DSE SirEE (PFBR
©DIYB BIS H0H DA 2

(1) 2rer @ers 816 0&rS (BARC)

2 oS Ay S D Do wobd

N'$00S 88 (CIMFR)

@ WOBC mod Dok s
. NG ey
86, 1GCAR) ¥

(4) wéécﬁ) a‘i)g

A DEyes A
ARG (BHAVIND $
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1

161" :

g the folloWIng, identjq, |
Nni‘ihllimls which are in CO"Hl)nr I‘“‘ lead
jnstivas . v A8 a ; 1on wit]

~0 Laboratory part of L U
{‘uf( . L 0‘1ndn
prQlect :

I ll'lst‘i‘lill'[?'e for Plasma ESearch
" Gandhinagar IPR),
's  Observato
L. Kepler’s ry &
Centre, Haryana Research
I1. Inter-Universi'fy Centre fop strong
and Astrophysics (IUCAA), Pune oy
v. Raja Ramanna Center for Advan
Technology (RRCAT), Indore =
v. Indian Institute of Space Science and

Technology, Thiruvananthapuramy

Select the correct answer using the codes
given below :

(1) 1,1l andIII
@ I,IIandV
(3 LIandIV
(4) I IIIand IV

Identify the spacecraft deployed by the NASA
to study the physical changes in ‘God of Chaos’
asteroid which will be nearing the Earth’s
orbit by 2029 :

(1) OSIRIS-APEX
(2)  New Shepard
(3)  Voskhod

4)  Pioneer 13

he first Indian

Who a o f ing is t
mong the following discipliﬂe?

Woman to get a Ph.D. in a science
(1)

(2)
(3)

Kamala Sohonie
Anandibaj Joshee
Janaki Ammal

4) Maharanj Chakravorty

72

73.

81806 S8, LIGO-India (3255 207

LIGO @S?Sﬂaﬁ.)é 8 rf)::'l"’ﬁf')r:qnl))_ l‘?)””“z‘o

QORI HBOBOA

L adyareS 56 oy 6260 (PR
mod SKb

I 306) ewyded wob E0) 20000,
SO

L R0&6-chrdsdyed  woed @?
BT @obh e FdNEY (TUCAA),
e

V. oz owd) oed DB @ sSNB
sy 28 (RRCAT), 2080

V. 206058 ashers e 00 RS

@08 B 0, BHSI0S$HO0
BHS 255268 EhOS GHTTA0D OB

QDIFTTR), 0TS :
(1) 1,11 805 III

(2) 11, T 805 V
(3) I, I SH8C5w IV
(4) II, TII SH8 a5 IV

2029 T°e38 25 $55%0 BHIS' &) ‘&
@5 SOR [BIrIEoS 3B Srd)IOD
©¢H5oRN0 TR NASA B VIV (DD
9800

(1) OSIRIS-APEX
(2) New Shepard
(3) Voskhod

(4) Pioneer 13

& (808 8S’ 1S VoS’ PhD. Srody
53 2rEB0D DAY DI ?

Ener F VR
PAN
28 @

0 S WIS

(1)

essobHuron

(4)
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74.

75.

natural

smart, biodegradable,

The
polymer-based nanoparticles from renewable
resources for treating colorectal cancer were

developed by researchers of :

(1) Indian Institute of Technology, Mandi

(2) Indian Institute of Technology, Bombay

(3) Indian Institute of Technology, Madras

Indian Institute of Science Education
and Research (IISER), Tirupati

(4)

Consider the following statements regarding
Sun Halo :

I Sun Halo is an optical phenomenon that
occurs due to sunlight refracting in
millions of hexagonal ice crystals
suspended in the atmosphere. ;

II.  Sun Halo takes the form of a ring with a
radius of approximately 22 degrees
around the Sun.

III. Sun Halo is specifically produced by
cumulonimbus clouds, which are thin,

detached hair-like clouds.

Which among the abové statements is/are

correct ?

(1) Iand IIonly

(2) IIonly

(3) IandIIIonly

(4) II and III only

(32)

74.

75.

@

SSEBES 55515 D8ed) SO DSB8
SO od Tl 2TrABGwwS,
B6S 3O56-e0s TSTESI® O

DOTKen sy BT

1 2000HS AT o
DE) e, O

@ BOAGHS ~ BALLTE @
B er, 23702

3) ROABCHS © AT &R

BE) ereB, IR

2080HS @)L B VI
JATAS ok B830) (USER),
SBDE

(4)

DS FS'E H0w0B0D & 80O DELIOD

Slolpl>ToinTele B

L 385 o030 oedd00eS 8Oard
WOHY Ay HotHd HydsoS

318235550 S*3€0MT
QOFVOT 2.8 &VES S9f 520%0.

L. 08 5 Srdgd ey msrd 2

Sl T5Rr3os 80K  Srard)

SBZ0EN0A

O IS | HBs8omr B050S oW

IO 500 G 1B FaHasdod,

A DS, ItH ToHards Jo|nser

083 oaire>,

20 A0S BELSOS® DAY $BSD ?

M) T80 I1 dres B

QS §5t0ed

IIL.

(2) I Sy
@ T8k 111 smes
N R
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55/1° following statem
asider the 1o entg .

16 st Coral reefs apq oft
stateme ‘Rainforests of theegn calleq ¢,
eq’
toment 11 : Coral reefs breg)

Sta the waves durjy, Power ¢
hurricanes, thus Ms ang
coastal erosion_ p eVentin,

gelect the correct answer using ¢

given below : € codes

Wy Statement I and Statement .

correct and Statement I is I are
explanation for Statement | . € correct

@ Statement I and Statemepy y

correct, but Statement Iy i not it;e
e

correct explanation for Statement

9) Statement I is correct, but Statement 1
is incorrect

4) Statement I is

incorrect, but
Statement II is correct '

. Consider the following statements regarding
30 by 30 initiative :

I 30 by 30 is a global initiative for
governments for ensuring that at least
30% of the energy requirements should
be met by renewable sources by 2030 to
achieve Net Zero target.

IL  30by 30 initiative was launched by High
Ambition Coalition (HAC) for Nature
and People.

IL India is the first among the BR:fnsl
countries to join the High Ambl
Coalition (HAC).

i are
Which among the above statements
U‘)l‘rect ?

Land 11 only
Wand 111 only
Tang III only
All the above

1.

(2]

9 (806 D880 HOKBOSO :

BEOST: HEGY Bmyody S50 B
TR ©H & & e HTD:
(BSOS : Hicksy — Boyen SOV

H0H0S werer F§ SHOOD

BT DDIGL0 BIOW

S50 BE FeboSH DT OROO-
AHS BI5263 FHOSH &HEErNod B
QIFTTR) JotHEoS :

(1) (DEOS T H00% (HELS I DSD
SBOM (HE&S 1 § (HEOS T OBS
FARNYe LA '

(2)  1D08OS T HOH (DELS IT OB
BN (HELS I & (DELS I OBS
FANTo AN A1)

@) (HEOSTITIG, S (HEES I $)

(4) (DB T 85y, 2 (D5 IT STID

30 B 30 SO Sop0H0D & 180
(D8I HBHFoH0AB -

L 80 3 30 o380 88 #8 o)
- QOWES 2030 T°¢38 D0 30% ¥§
OINTOD IADTIRE  S3%e

50 B0 | AT BoE IR
(D20ER 50 FH0 258 (DD SBS.

II. 80 B 80585 3 OFODAS FoHOAS
(HAC) b Jd @0k HHS o so°
B0 0NDE0H.

T ©0DAS FoHOAS (HAC)S® Fo
105 BS' arss5550 Ince3a.

2 DELSOS B SBIA ?
(1) 18050 IT Se(ehad
(2) I 805 I Srebad

(3) 10805 III S
4) I

III. .
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78.

79.

Identify the Biosphere Reserves in India,|7g

which are not a part of Man and Biosphere
(MAB) Programme of UNESCO :

I Nokrek Biosphere Reserve

II.  Cold Desert Biosphere Reserve

II1. Khangchendlzonga Biosphere Reserve
IV.  Dibru-Saikhowa Biosphere Reserve

V. Great Rann of Kutch Biosphere Reserve

Select the correct answer using the codes
given below :

(1) I Iland IV
(2) II,III and IV
3) ILIVandV
(4) ILIVandV

Which of the following state’s online civic tax | 79.

payment software suffered a cyber-attack
recently ?

(1) Madhya Pradesh
(2)  Odisha

(3)  Uttar Pradesh
(4) Tamil Nadu

Which of the following programme by the
Department of Science and Technology (DST)
is to encourage and support senior women

scientists to conduct research in
interdisciplinary ~ areas of science and
technology ?

(1) INSPIRE-SHE _

(2)  GATI

(3) SERB-POWER

(4)  WIDUSHI

(34)

N
- @

DY), (UNESCO) T8 SSS ey
DOR)AHE (MAB) SOISDOS 2Mio iy
TOETFoS'D  E3rRIOND B8 ger,
8o 9

L. SL§§ 23R )0H0 82353

L §F oo a8r) 000 0203

I ®oR)Sasfor 283000 820
IV, Qar-pg5's 23870)0H0 820

Vo 08 oo§ @D &S 2380 000 826
DS 395088 FHOD GITrAOD I
QTR JOTHEOS :

(1) L1 58050 IV

(2) II, III 805 IV

3) I, IVSH8asn V

(4) ILIVBas»V

a3 & (808 J TROS BSBS 6
D) B0 FPIG DE-AE K0S ?
(1) DGs DTT

(2) 2,47
(3) &85 (HTT
(4) SLITD

GRS &P VS) wok s @28 (DST)
30" & (500 8S” D s85E%0 HAHE
DI FTAS3Sen, DS @0k Bs) o8
QODOBONS  ROLEAJIVSE  Sorerd

HBIBS - BHETIE Bk 6D
(&S )TONE ErroBoS2B0A ?
(1) INSPIRE-SHE
(2) GATI
(3) SERB-POWER
(4) WIDUSHI
|
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69 the following

pnside’ ;
¥ grSENS device

It is a novel, non-invagjy, devi
ice
assess the health and age of the n °
. eu
and thereby provide early o rons
ng for

central nervous system diseage

. ARTSENS device was developed by th
National Institute of Menta] Heqyy, Z
a
Neuro-Sciences (NIMHANS). i

1. ARTS.ENS devi(?e is powered by a
proprietary non-imaging probe and an

intelligent computing platform.

Which among the above statements is/are

incorrect ?

(1) . Tand II
(2) IIand III
(3) IandIII
4)

II only

A multimodal AI tool that can respond in 11

genously by

Indian languages developed indi
Seetha

BharatGPT ecosystem and
Mahalakshmi Healthcare (SML) 18 :

Krutrim
Bhashini
OpenHathi

Hanooman

82.

&)

ARTSENS 50850 ®80d & Bo©

IDEEISOE DONEBOTIOE :

L @b Sroe @8ho Eelens =&
8 000

SO Y O B0HTET
Scrsor Bold T I3V OO0
J006%y  (Pdoh @oéoéa"«‘i)g
o orsd o8 S3o, TEETOD
HB580.

II. ARTSENS
ASVLTIE e
Srs8 -0 (NIMHANS)
D0,

ARTSENS 8880 IO
FS-He30h &S SoBAD
2080208 Sodyse3oh TE T B
o 0° 5r0S0 TBOLVBOD.

HOET) —a%‘éé

o0 wE ©08
EYANBIA

I11.

D DELIOS’ DO/ SaY) ?
(1) I&0akw Il

(2)  ILSH6ako HI

@) 10005 I

@ I1SPSD

26 22¢3 (BharatGPT) $§5Q 08w Hes
L5tedy 930 (SML) gor BRchom
D30 Bov2E 11 TEBAH  rhe
DaD odo N HOIrAS A1 ST

H8osod ?
(1) Krutrim
(2) Bhashini
(8) Opentathi

Hanooman

(4)

\
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GS“G”O1 (36) @
ITI Aayog's ‘Methanol Economy’ programme | gg, B
8. N imedat: ‘2? Rl TS dsshy
[ Reducing India’s oil import bill. 1 $800 &), ergrgercdd MHBo0G :
' . o OSEY  sswdd  OHHS D,
1. Reducing Greenhouse Gas (GHG)| - $RoSAo A
emission. a ;
- . L 085S mo (GHG) &Foos
[1I. Converting coal reserves and municipal SN0
solid waste into methanol. It n 0, )
lect th N —— L &% degen 00w S0DS g
r
Zi:; A sdec st the  codes ST WS SrEIR0.
amé . T:) W, «
(1) IandIIonly B ale FHeQ GHAINOW 1<
9) 1 and III onl NEPERR) JOTEOR :
( e (1) 150050 I S
(3) IandIII only @) I 805 11T &')J'Léﬂ)

(3) 108080 III S5
4) 1,11 6% III
84. 2§ BHISHM 808 3o edSyd

(4) I, IIandIII

84. Which among the following acts as a nodal

agency for sourcing .Of the Aarogya Maitri TS esBiis (e ErsSeO Da0ETS e
Cubes developed indigenously under Project 90 & 1808 TES IO SBS BT
BHISHM ? st 7

(1) HLL Lifecare Limited (1) I-I.LL BDE6 OBS

@) R0ACHS () @0& FoRrse38S)

(2) Indian Drugs and Pharmaceuticals

Limited _. OWVE
(3) Emergent Medi-Tech India Pvt Limited &) gg;gog DA-BE oA (RIS
(4) Biosurge Healthcare India Pvt Limited W 2owed 6 mos 3
ABE i B
85. Which of the following statement is correct 5 EHAS) | KT
regarding ‘Tmpatiens Karuppusamyi’, seen in 8 3800 ‘?5 a0 aeﬁ_:;o ey
the news recently ? “‘3250 &Or‘b’.‘\’) vé"’ }§0& ST 8
(1) A new aquatic flora discovered by the E‘;? Oé:i#wc?;%s‘? (DS DA ?
National Institute of Oceanograph.}’ = 565 553 FTASDES IS
(NIO) in Thamirabarani river of Tamil — BOQRETIE &P L3S u’ii)
Nadu \ & ;,né)ﬁ%l §'S 20 Sy8 200
' 2) ol P
(2) A new species of Hoof fungus grown on @ KJES,? gg © E‘—?g 0255 SerdsS
plant species discovered by the N &> (BSD orso
D etanical Survey of India (BSD D 705 BN &35 THOD OO
Sathyamangalam Tiger Reser® 3 SHODB 6 geégqg he
. i i t v, e 2 Ay 5
es of Bamboo dwelling ba $8s @ 238
(3) gsﬁx;ﬂe;; Zoological Survey of India §r§'l>ﬁ“:‘()ea(§)‘6 gg&;ﬁ‘g @S oso°
(7ST) in Madumalai Tiger HenRrve: 1Dyeo0, : IS AW
iag of splant discovered by 4) SO8& Swoe
o newhsln)'(;c;?thagical Survey of Indi2 EAYAPNNG m?&gg" V6 82658
research® danthurai Tiger HO8E RoAASe (BSD
(BSD) in Kalakad Mu 0 50Ny §¢ 208 0.
Reserve.

w000
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55"’16!101
e following state
r the f Mentg regar

n5ide :
v Shield agamnst

Global
ipitiative -

Global Shield against Climate o

o tiative was launched at COpay . o
is a collaboratim bEtween and it
vulnerable Twenty (V20) g
Group of Seven (G7) ’
supporting countries.

ding

g6
Risks

C]imate

I

the

the

and  other

1. The Global Shield wil T
protection for vulnerable people ang
countries by substantially enhancing
Climate and Disaster Risk Finance and
Insurance (CDRFI).

Which among the above statements is/are
incorrect ?

(1) Ionly

@ ILonly

(3) BothIandII

(4) None of the above

Which among the'following in India have been
named as ‘Hope Spots’ by the Intern'ational
Union for Conservation of Natur€ (IUCN) and
Mission Blue ?

nd Raghol’ur

()  Lakshadweep Islands 2

Diyara Island

r Iglands and

(2) Andaman and Nicoba

Keibul Lamjao Island
Diu
@) Andaman and Nicobar Islands and
Island ]
an v
) Lakshadweep Jslands and Anda™
Nicobar Islands

(37)

86.

87.

R e

(&

TEIG DIrTrOR HBOE0M Do
TS Bad H9% Sonohod & 8o&

(DS HBHEBOOG

L Jersdn (DIroroid S5B0ECT
Yoy Fs Bob hE o T2
Soy8E 20 (V20) D, UD€

235 (G Sbakn asd BT
S0 COP2TS' @80HoBBO8:

I 26 56 dode Werady SNROS,

EAON $H805» SISO
TN OO gﬁoeﬁ ol
B 0Dy RN ol

28BS YCDRFD) &S0 52 DO
oI DOk  BFTON &5 €90
5O N0d.

D PEOIOS” DO/D ) ?
I S|
I S35 add

1 583w 11 Dot
DR 5D

20BN RrICHS DB SIBFAS D
=46 (TUCN) S0 DAS 2 orgoe
rSSTHOSR & 1508 =8 DD 2D
ST DB SRFTOD ?

olHD OHo O TS
Aosroe B0

wodSrS D OI™  HBA
8o oS OIV0

wosirS JEwD BIN  SH8awy
osrs B0

oEHH O SO0 OB
FTARATN O .

(1)

(2)

(3)

(4)
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gg. Consider the following statements regarding

89.

Conference of Parties to the Convention on the
Conservation of Migratory Species of Wild
Animals (CMS COP14):

I.  The 14 session of CMS COP14 was
held from 12 to 17*" February, 2024 at
Samarkand, Uzbekistan.

II. The CMS COP14 was convened under
the slogan “Migratory species connect
the planet and we welcome them home”.

III. CMS COPl14 was the first global
biodiversity gathering since the adoption
of the Global Biodiversity Framework

- (GBF)-2022. ' :

Which among the above statements are
correct ? i

(1) TandII

(2) TandIII

(3) IIand III

(4)  All the above

Consider the following statements regarding

- GSAT-N2:

I It is the first deménd driven satellite
mission that is fully funded and owned
by New Space India Limited (NSIL).

IL  GSAT-N2 satellite will be lifted by using
SpaceX’s Falecon-9 rocket
scheduled in the 2" quarter of 2025,

III.  The collaboration of NSIL with SpaceX
was made due to the current limitation
of India’s rockets, which are lacking in
the capacity to lift large communication
satellites.

Which among the above givep statements are
correct ?

(1) IandIl

(2) IIandIll

(8) TandIII
(4) 1,11 andIII

and is|

(38)

88,

89.

Y

ry

E0)B508 @h BAESE D ©d 38

BINE) (CMS COP14) 2 Fde> SEVAERS]

QODOKHOD B 80O (D8 S ersg,

Q0o oh :

I CMS COP14 3w¥), 14% JAS 2024

DRI8 12 Hod 17 HE5 &2 )8

'R H05Z0ES’ 26006, o

I CMS COP14 ‘eSS 3% 475 4

DTS @08 J IV To Sy” ey
QTR0 HSTFSI08.

[Il.  CMS COP14, fadS aSr@s6)¢8 (55

02 (GBF)-20220 &Zr&0DS sor 5¢

L2008 R (DDoS BIIs;

DS do.
R DEOIOS” I HBID ?
(1) 10605 I
(2) 18050 III
(3) II805 III
@ 3D

GSAT-N28 5020500 & (808 (HELSS
0He30%0 ¢

L 28 &5 VD 0BT OB

(NSIL)8 33 <320 Dcsoen o8k

OST 2383 POENPROW DA
SOPINDE AT esr8es (I
DA

IL. GSAT-N2 &0  SpaceX sy
P09 T8 aHo & JoAST
MTOMIN VAT oM O 2025 29
(B350 Bd V&S Sohardod.
rOSTIOS 8 gursdEas
SHATOD SNTF  rdso ad)
088 BI0odS NSIL & (HA0
§00  SpaceX Qg SIrseso
B0E0EN0O.

2O FDIS (DELIOS’ AD HBSD 2

(1)  Téasw II

(2)  IIH8asw III

(3 10asw Il

4) 1,1 805w III

II1.

|
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o1

GE;TG ing state oo, Dg
Jer the followl Mentg .
i
- 90. & 800 %erdern HBNKBoH0b
oment 1: India has tre‘“end
St

Sj‘affment jI: India experienceg clear §
. u

U8 Solar
pOWEX BERETALION potentig)
ia

n
weather for 25q At 5 ny

days
per year and thjg ©XDosure
e to

the Sun is estimateq to be

worth 5000 Tn kilow att houy . f

energy in a year over Indig’s

land area.

Select the correct answer using the codes

given below :

1)

2

@)

(4)

Statement I and Statement II are
correct and Statement I is the correct

explahation for Statement I.

Statement I and Statement II are
correct, But Statement II is not the

correct explanation for Statement L.

Statement I is correct, but Statement 11

is incorrect,

nt
Statemen, [ s incorrect, but Statem®

(BSOS : 2088850 ewhHE A6 D553

G )8 B0y SO GOO-

(SEOSI: 2368T508 28 00583608
| DIADS 250 Sod 300 e

Q0% Frod SHOB Aol (oL
Srarnos B8)0vdBS 638

BOBS0  HoSSIoVE 5000

oo o &  o&-foted

(Tn kilowatt .hour)-

A0S ADDAS TR &HTJrAOD JBS
co;&yqs“m%l OO :

(1) (O8O0 T HOAD (DELS T HBSD

DO DHELS T § (DS 11 HBS
DB

(2)  DHES T SHBA (HELS 1T HBID, 0
B985 T8 D8RS T 5B Do swesy

(3)  DHEODTIBSS, SR DSOS I &3y

(4)  (DEOS T ), R (D5 1T SB[
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91.

Current Events of Regional, National and

(40)

Part B (i1)
International Importance

Which of the following became the world’s first
country to make abortion a constitutional

right ?

(1) Netherlands
(2) © France

(3) Australia \

(4) Switzerland

Consider the following statements regarding |
‘Operation Aspides’ which was recently seen in

the news :

{3 It is a defensive maritime security
operation to restore and safeguard
freedom of navigation in the Red Sea
and the Gulf.

I.  Operation Aspides is a joint operation by
Interpol and International Maritime
Organization and was launched on
19th February, 2024.

Which among the above statements is/are

correct ?

(1) TIonly

(2) 1IIonly

(3) BothIandlIl

(4) None of the above

@

8 B (i)

¥80& 905y 1D b S , FAsS S8 o%y

91.

92.

Q068 H8S 20FS

806 &BS" wardSSH orariol oy
DBAESONS (95090’ B3 Fio Ha ,

D STk
(2) 1B
.3 a(ROAS
4) JIYTOo&
‘BOBAS @By  adse o

EAV0N08, HI8 Jo0H0D & (foi
TS’ OB (HEESOK HOKEBOSOS

L Y IdSwso obaty #S)eS* Rse)
TORAS & HIOGBOSTIE 60k
O80T 2B OEETeHE  Sw|d
IS 385,

I 8303 @VE) ©TO Ro&ESS

AVoloviV ROV ASS
LETORERES QoA
DOAL VO 19 D238,

ErSoDosaBod .

SroBD
DA
20240

D DEOIOS’ DA/ HBSD ?
I S8

I Sv(8 3D

I 8% 11 Bockr

DI S

|
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i )
ansider the following Statements re
# posT drill : Barding | 9g,

pOSTI-16 is a trilaterg) -

exercise petween India, Sri St guarq
Maldives conducted frop, 2;“"& and
February, 2024. to 25

The pDOSTI drill was Starteq in
a bilateral exercise by the Coast
of India and Sri Lanka.

guardsg

. Indian Coast Guard Ship Samartp,
JCGS Abhinav participateq i, e:;d
Exercise DOSTI-16. €

which among the above statements are
correct?

1) IandI (2) 1II and III

)" Iand III (4) I II and IIT

§Oncology.ai’, an Artificial Intelligence (AL
platform designed for the early detection of
breast and ovarian cancer, was launched by :

(1) All India Institute of Medical Sciences in|

collaboration with Centre for Artificial
Intelligence and Robotics (CAIR).

2 Dr. B. Borooah Cancer Institute in
collaboration with Centre for Cellular
and Molecular Biology (CCMB).

Prevention
jon with
Institute

(3  National Institute of Cancer
and Research in collaborat
Artificia] Intelligence Research
(AIRI), -

dical Sciences 1

W Allingia Institute of Me g
collaboration ~ With Centre e
Development of Advanced CompU

[&]

DOSTI | &&8 wowosod & 8O

(8IS HOKEBOSOB

L DOSTI-16 &I rdeB30, 3005
20k srdye s 2SO 22
08 25, 2024 SBH D8 5eroBD
888 §Q m§ 2°5055°e00-

I &Y B85 19016 erostio OO

008 Mok, € ™ I gsrEs

T OSTFOMT (FBE0DODVROO-

oS BE s58 FE HHG PO

ICGS @S DOSTI-16 505700

I1I.

TS Ty oW,
D NEOSOS’ A KB ?
(1) T80 II (2) IIH8osw III
@) 1000 IN  (4) I, 11308080 I
Bin; SO0  womdod SO0

SoSWT HOOWS0 FH0 SrFOBOD
BB Doy (A FESardaD GOncology.ai’

ARTeRnlioad Fodelorlotnalalelal:

(1) o0 N6 sPINHS ABDORRY
@0l T5%¥E) (CAIR) 3By
HIsB08 88 AT VSNEITHE
(Y DAES A e o°
(Cope o rAleInFAIx TeInY

@ o&b DO Ddegerd ©085

Srd%seb 20srez (CCMB) B
Jdssos @Ed O. SErd 53836
2SN 0 (rO0DOBDR0H.

s@DNOHS  ROVOBRIS) 816
ST (AIRD AW IFsSos
FasS atRer O 3338

(3)

0355 ©ob 8B wrsoe
rsoDosnB0d.
4 2ob ble) BIODOE] a9

oSy Sosyrseoh (CDAC) &wy,
“ipsdod ©S R80T ASJearseS
o DA VIR oo
\8oHosdod.
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Gs.f“' Gr'!1 01

(42)

Consider the following statements regarding
‘CRIITIO 4 GOOD’:

CRIIIO 4 GOOD is a series of 8 cricket-
pased animation films.

CRIIIO 4 GOOD consists of new online,

I.

II.
life skill learning modules to promote
gender equality among girls and boys.
III. CRIIO 4 GOOD was launched by

International Cricket Council, UNICEF
and Board of Control for Cricket in
India.
Which among the above statements is/are
incorrect ?

(1) IandII

(2) III only

(3) IandIII

(4) None of the above

Which among the following country’s Prime
Minister became the first Pacific leader to
address Australia’s Parliament ? N

(1
(2)
(3)
(4)

Philippines *
Marshall Islands
Fiji

Papua New Guinea

Consider the following statements regarding
PACE satellite :

L It is NASA’s satellite mission to study
ocean health, air quality and effects of

climate change.

II. PACE satellite was successfully
launched aboard a SpaceX Falcon-9

rocket on 8% February, 2024.

Which among the above statements is/are
incorrect ?

(1)
(2)
(3)

I only

11 only
Both I and 11

95.

(4) - None of the above:

- L. CRIIIO 4 GOOD 936 8 |88¢5 03734

97.

@

‘CRITIO 4 Goopg DO20ECT &a 1Bop
DEEISOE HOKBOBO : -

ATVDAR DIEsee> (FE3.
I. CRINO 4 GOOD @5r0men &6,

earyoneres ol Ddrdess:
DSITOSTAE TS ©5BS, =
23S 808 SrearsSes EDhos

III. CRIIO 4 GOOD ©0o&S$TSCH (837
§°0.)0, UNICEF 8050 27868506
888 Aol  Hodkd  oim
rEo0DodnBob.

D DELSDOS” DA/ e ?

(1) T80 II

(2) III S8

(3) 10808 III

(4) VI 50

& RODHS TE0SS” 1HI0A0DS wad
JDIDE TADED 2 BFTRVE TOAS |G
0(e3 ?

(1) DODIS)

2)  Sr8S Hyen

@) 2

(4) T Ar§ AROST

PACE &GI8  HDo00H0D

28I DOKEIOTSOE

I 20 SIS efso, m™O Ted
AVOIoVWIFVINTOTING e VTSI PO PO IOIN
@H0NN0  TONEAE  ErFrodod
' (NASA) Q08 |93 DAN-

II. PACE &0 8 258, 20240

(§o&

SpaceX JrOYR-9 ogd T
230000 DA IDA0H.
28 A0S (DELSOS’ DA/ Fad)?
(1) I SredsDH
(2) I Soredsd
(3) 1805 IT Bodky
4) I 5
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. India’s first indigenous Hydrogen fuel

6”01

65! ; (43)
asider the following St““‘e“mmq _
Co s -
H 98.
; The 15t edition of the Tndig
, . o
Commanders Confel‘ence of e
commenced on March 5th} 2024 2024

g The Government of Indjy 1, 1ot
Che

ADITI scheme to promote i,
’ NoVations
ns 1n

critical and strategic defenq —
ogy.

1. Exercise Samudra Laksamap, T
in

naval exercise between the Indiag l\iavy

and Royal Malaysian Navy, J

Which among the above statements are

correct ?

(1) IandII
(2) II and III
(3) TandIII

4) I,1Iand III

cell

ferry, flagged off by the Prime Minister of

W) Hindustan Shipyard Limited

@ Mazagon, Dock Shipbuilders Limited

T d
3) Hgoghly Dock & Port Engineers Limite

Cochin Shipyard Limited

(A]

&1 808 (HESeD HORBOBOs :

L 208008 I8 Larosby s9I00)
2024 135 JAAS Sr8) 5, 2024
@rSoPFob.

L 89S S8k s 028
OSBEeseS’ DA BN
S rosEdE s (DES0
ADITI HG5°Q) 500 D0R.

ML 330 ok agosrso oS

TSR0 DB T oHS HSVOT®

JFeBEo sy DoasnE JsehY
°§ A0,

D [DEBLSOS’ DD DBID ?

(1) 106w II

(2) 1108 III
(3) I0csw III

(4) 1,060 IIT

ar8S |HERT [ O0DOBDAS FESHso
&) GBS 0BT TEBS JricHS
26 B IS5 N80T ?

1) SPoORTS ADord OWVE
@) SerrdS @8 ad HYO) ONBE

sof a8 wob R 202308 vy
E0)S HoWG OWE

(3)

(4)
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100. Consider the following statements :

101.

Statement I: The researchers from various
organizations have identified a
new species of burrowing frog
in the urban landscape of
Karnataka and named it as

‘Sphaerotheca Varshaabhu'.

Statement IT : Sphaerotheca Varshaabhu get

its name from its behaviour of
changing colours from brown
to pale brown in the beginning

of monsoon season.

Select the correct answér using the codes
given below :

(1) Statement I and Statement II are
correct and Statement II is the correct

explanation for Statement I.

(2) Statement I and Statement II are
correct, but Statement II is mof the

correct explanation for Statement I.

3

Statement I is correct, but Stafeme_nt I1
is incorrect.

(4) Statement I is incorrect, but Statement

IT is correct.

The initiative Mission Investigation@75 days,
which mandates officer to

complete investigation of cases within 75 days

investigation

of FIR registration is launched by which State
Government ?

(1)  Gujarat
(2)  Odisha
(3) Bihar

(4) Uttar Pradesh ,

(44)

&

100. & (S08 (DL HOKBOGOA -

101.

BSOS DS 0P HBTEEye,
EreEeS’D DR (D85
S9¥506S" (urban landscape) ¢
& zredd 50)N  MBowy,
OO TR WYTBS STy

@ D DETED.

(DSOSIT : STs00 (8080 fes,
B0 DHod B HE0D Sokg
S0 (DB  s8@or e
VB ST ©F D
INTARTeTa Y

BN RS 5DAS SFEON SITrEA0D I
DATPTTR), 0TS :

() (D80S T S8 (H¥eS 1T H38
SB0 HELS T § 1DEQS T 33

DIB€.

(2)  (DES T B (HEES I HBHI, 59

WSOS T § (DFOS T IBS DHde
57

(3) DS TOTIB, 9 (DL 1T $3)

(@) (DIOS I 853, S DS TT $BIA.

MRBE IIred BOS 75 TS 0o
TN ©HF0 3578 TATFOT S WA
AJLAAS@T5 Fren, O oR (D050

O SO° (80D oDA0E ?
(1) HBo°S

(2) 247

3 DB

(4) &S (DBT
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55/16/101 ‘ =]
0 among the fOllOWing have 45 :'

102 stronauts on Ingi.. been se]
to be the 2 ndig’g first ected

mission to space ? Crewed
|  Wing Commander Shubapngy

1. Group Captain P. Balakrig},

102. 2r88@io BY), SO Srds KIS 0808
O o0 e0sBE0S's SFoOD ot
U Shukla . TBS' A5t SomsnenTT HOVERT &7
nan Najp L 20R 857086 Hearoh HE

L. Group Captain Pankaj ). Sinha
o R IL 50D 58 9. orofens o7od
1v.  Group Captain Ajit Krishngy oL (5% s-%;&% Hokes ae?.}?o@“
v.  Group Captain Angad Pratap, - IV. (D SRS 0f8 §92S
:ﬁ}:ﬁtb :1}:; f.:prrect answer using the Gy V. 0D ss woib HED
' « D HBS
@ LILIIandV ™ ggiy 2:655??: j?;g’f).) &Ha3rAo
@ LI IVand V- (1) LII, T 605 V
(@) LILHLandIv @ LI IV 58050 V
@ LILIVand V" (3) I, 1L I S8 IV

Which among the following is the fi (4 LILIV58a v
103. gname e following 1s the first country s 238
in the world to launch the Malaria vaccine for % ig’gfﬂ?ai’fg&%%? ge;i’f) @gjagg‘;m

children  into  its routine  national
immunization services ? 2SO AITYPDBAS HISE DS DES

_ (1) &Serygoe
(3) Cameroon (3)  STET®

4) B3NS e3s 89D D & sofF

104, DS OB DB SIS D9
H5-33rad (PM-MKSSY) N800 & 808

(4) Democratic Republic of the Congo

104- Consider the following statements about

Pradhan Mantri Matsya Kisan Samridhi 8B % BeS0S0b :
Sah-Yojana (PM-MKSSY) : I 28 ) BoKo ©f50888m BN
I.  Itis a Central Sector Sub-schelge mj;; ' Sob)5 gl HBAW DY) HBFHOB
i Matsya Samp (oS
:t}:: ff:r?nilllizgti?naitfnthe fsheries sector ?30‘%:;2 L;‘O%@‘g"i; éoﬁ‘&:;ﬁ:)%?o LAY
ng fisheries micro a7 | a5 |
and supporting fishe I ey olaren 0 B0l >rOes

small enterprises. romod 2023-24 8% H038 80

- n \,
. It will be implemented wrtlsve:’a $08 202627 ©Q5 VOSSO0 SEK
investment of over T 6,000 cr0;%523 B ST 4 NOISTO 500S" T 6,000 §%¢
period of mext 4 years 0% T yon S eppas 28 sde SobatEos,
to FY 2026 — 27 in all State 11 e ggonf Dard Soffes Savade
Territories. i centive to Q@w@og\) D850 ENG AN Y
L. 1t aims to prOVide One'tl.me . aculturé @D@oif)éo A ©8.50
L urchasing ad4 “ S HD DB ?
beneficiaries for P 28 PEOARLY (DEELOO =
——y correct? S soawi @ NS0 m
Which of the above statements a7 1l 3) 1005011 @ 111 08asy 11y
() Tand1r (z) Mand i
(3) IandII @ LI
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105. Wwhich country recently _d‘-"d'?‘md National
emergency due to offshore oil spill ?
1) Peru
(2) Puerto Rico
(3) Northern Mariana Islands
(4) Trinidad and Tobago *

106. Who among the following eminent
personalities are recipients of 58 Jnanpith
Award ?

L Sampooran Singh Kalra
II. Jagadguru Rambhadracharyaji
III. Damodar Mauzo
Select the correct answer using the codes
given below : {
(1) IandIIonly
(2) II and III only
(3) Ilonly
(4) 1and III only
107. Consider the following statements regarding

International Big Cat Alliance (IBCA) :

I The International Big Cat Alliance is a
multi-country, multi-agency coalition of
96 big cat range countries, non-range
countries interested in big cat
conservation, conservation partners and
scientific organizations working the field

of big cat conservation.

II. The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a
one-time budgetary support of ¥ 150
crores for a period of 2 years from
2023 — 24 to 2024 — 2025.

Which among the above statements is/are

correct ?

. (1) Tonly
(2) IIonly
(3) BothIandII
(4) None of the above

105.

106.

107.

BB esandS )& $*GEIOM zedse 2 Bio
2rB0% 9688555 HODBD 1HEe30D08 ?

(1) DS
@ g ee

(3) &b SHBOSTR® Heyew

@) (BIF6 60k &2

& (808 (HS0P SsgveeS 585 FIDH
O (Haresen DS ?

I DoydsS doh 5700

I 28 oeedierords

L. or8rdb &

OKHS BHAS TR &HBHOD AT
DT, DTN OB

(1) I08050 II SI{ehad

@) 1805w I 357D

(3) I &r(edhad

4) 10808 IIT S5

200BIASS DA 5758 OADSY (IBCA)S
HOD0HOV & Bod IDESOD
HBKe3o0 :

I 2000388 D 5738 eodhs)
OFE IVF-TFEN, DIVF-N0QV
Eredn, RWADS' 96 DG dewew
EJNDOT T ew, o¢3 DoSE e D e
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Erarohe DEOY 235

SErONoREIE DBk 2rdSTIos
R0LVYASS DR 58S e
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B0 55D TS es‘ir&oao?:;
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(2) I Sved S
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4 DI sy

Scanned with ACE Scanner



¢ oai (47)
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tify t i arding 55
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ith the SanE° Akadomi fgras| e 2023 Fr0b3 Sgven T D
2028 op— BorrRE $020600 SYIT GO
1 LV Gangadnar astry — Music H8ood :
@ v agdish Gangani = Dance 1) IS Komess (& — Hofieo
g Parikshit Mahato — Tribal Dgp,, 2) 288 BoAR - T$SY “
iri — - % Y& _ RO D950
Hele[l Gll'l FOlk a.nd 'I‘rad-ltlo . (3) c\)agé Q}Jg ﬁ' P
¥ . nAMusic | () s o - awds SO
];\r'l'ndia’s ﬁrst spy S&t&lhte that is set to b e @"OL:)C? 0‘5) K)Oﬁéo

) unched in SpaceX rocket was hyjjt by :

: . 109. SH % v =28 HESTEIRL
(1) Bellatrix Aerospace Private Limiteq 9. VI X oo o (DA

2T ESTED IoLBNESE KO &I

@ Skyroot Aerospace Private Limiteqd - IS BT ? ,
@ Dhruva Space Private Limited 1) BrEE) HEDIN (2SS OWBE
(4) Tata Advanced Systems Limited @) IS DR | DIE OWBE
(B)  Bod DIV RIS OWTBS
10. ‘Mukhyamantri Vishwakarma  Pension 4) Xty omsSIR DR ABE

Yojana’, a special scheme to provide pension to
workers, street vendors, folk artists on|110. 60 D% DoAS TOVLV, VO TFIEO,

attaining the age of 60 years, was announced 23SHE ETSHOH DO ©0BOTOLEL
by the State Government of : SHDINOS DS, IS TraSes
(1) Haryana DSB8 DPHTR), TR (D806 0 (55300 :
(2) Uttar Pradesh 1 Soogee

(3) Rajasthan 2) GO

(4) Madhya Pradesh 3) BT

; [ @) S5 IHTT
1L Recently the State of Tamil Nadu banned the
sale of cotton candy due to the presence of | 111. 2e3S5e SWETE TR0 D Mo 9

whichcancer-causing agent in it ? RO ek DBOES &8I0 D
(1) Aristolochic acids 950500 RHODOD ?
@ Benzidine (1) eBFSEE esairen
(3) 1’3'Butadiene (2) BO&?&S
4 Ry ’ (3)  1,3-20erR0NS
lo, s (4) B ~-B
Which . .o recently |
beca;e oft }:;he follg‘wmg c0unl;l;185j0in the|112. 288350 & 18od 3" @Oé?“écﬁ) e
Iternationg] S0}19 Alhcf;llr;% SA)? Kr&r2D (ISAS' TOS 1198 BE0 8 2
D Liberi . 1) BHeKT
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113 Consider the following statements regarding

114.

115.

State Energy Efficiency Index (SEEI) 2023 :

I Karnataka is the top performing state in
SEEI 2023 with an overall score of 86-5
out of 100.

II. Assam and Uttar Pradesh are in the
‘Achiever’ category in SEEI 2023.

Andhra Pradesh is in the ‘Front runner’
category in SEEI 2023.

IIL

Which among the above statements are
correct ?

(1) TIandII

(2) II and III
8) IandII
4) 1,1 andII

‘Sangam : Digital Twin’, recently seen in the
news, is an initiative of which Department of
India ? '

(1)
(2)
3)
(4)

Department of Telecommunications
Western Naval Command

Eastern Naval Command

Department of Science and Technology

Consider the following statements :

I Indian Naval ships Cheetah, Guldar and
Magar were decommissioned on 12
January, 2024. The decommissioning
event was conducted at Lakshadweep.

II. INS Imphal, a Project 15B stealth
guided missile destroyer was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December

26th, 2023.

Which among the above statements is/are
correct ?

1)
(2)
(3)
(4)

I only
11 only
BothIand II

None of the above

(48)

113. & DG AN EHH) BOTSY (SEED 20238
AOWO/OY & | 18od  D8&LIe
20Ke30s0A -

114.

115.

L $oryers SEEI 202365 S0S0 1008 myy

865 HBS oddS DAy
852380 oo AOD0L.

I SEEI 20238 ‘@S5 (Achiever
BOHABS' er)0 OO GBONTg
&) oW.

III. SEEI 20235 es0|3HB3 08 888
(Front runner) K)?J'(‘ioesa &00.

D DHEOIOS DD DD ?

(1) IH8cswII

(2) II H6csw III

(3) I08csw III

(4) 1,11 805% III

28350 TS EIDODS ‘Doffo : ARLS
8335 & 1808 TS’ 2rESTED & Jerio
TBoEy, TES ?

(1) AP0 &P BOE/FIDTAS)
(2) IYES VIS EXr0H

(3) QB IO ES5r0&H

4) ATROS e VS ®od Bsy

& (808 (DEESOD HOKEIO0A

L 288 Jode Ssen Do, Herb
DA UG 12 23858, 20248 2r8S
T TOF0 NOG GID0TEOIDFAW.
OEBDS"  GIDOTE SIS0
QB S0 DR08.

. &Job 26, 20238 SOBSD IO
FEArDS’ 200 28 sEs &0 INS
QoS 2§ 15B S 5B WO

AToNED  ardd  Iseeods
(DSFDEFED.
D (DELIOS’ DA/ KBS ?
(1) T¥e5D
2) I3
(3) 10805 II Bocky
(4) DI 5
__‘
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#! of the folloWIng statg ¢

pich es 2023 Ppeq
]lﬁ- ;dia para Gaam Meda] tahle .:' he Khe]o

() Uttar PradeSh°

@ Tamil Nadu

3
sarat
@ Gward

7 In which of the f:OllOWing Places "
it o odical colleges Inaugurateq by ¢ }:’:re New
inister of Andhra Pradesh i Se;te?n};:ef
er

20237

L. Eluru

(. Vizianagaram
1. Pulivendula

[v. Machilipatnam
V. Adoni

Select the correct answer using the codes
given below :

@) L IlandIII

@ M,IIandV

@) LIland IV

(4) All the above

118, What is India’s rank in Logistics Performance
Index out of 139 countries, as per the World
Bank's Logistics Performance Index (LPD)

Report 2023 ?
(1) 44- (2) 24
3) 38 (4) 47

nched ‘Pratham’

119, Tdent; .
entify the company that lau g § W @

which is the world’s first no
Vision platform :

(1) Assert AT

@) Microsoft Inc.

3) Go ogle

4)  Den Technologies ~

I. . ncieS
%. Which among the following S,paceﬂggfo(:ket
has launcheq its next generat10m
1nto orbit 7

(1)
(2)
3)
(4)

Canadian Space Agency (CSA)

Iranian Space Agency

Israel Space Agency (1SA) | agon”
Japan  Aerospace Exploratlon

(JAXA)

(49

(2]

116, BS' q0acsr aro Ay 2028 HS3 53‘%3%‘56
& 1806 8 eiyood &) TR0

A ?

1 Sog

(2) eSS |HTT
@) SN
4) HzoS

117. Q0% 202365 30|32 Sogole

& Bob O pord §8 PO STTOD

0o ?

L derd

L decHSHso

L. HOJohe

IV. HVOHL)0

V. &8

BHS ASDAES FHOLH GHRrA0D OB
DIFTTR), Aok :
(1) I II 000% III

(2) II, III Hdas» V

(3) I, 11080 IV

4) DI

118. (DHOLH @508 ATy eBNE)  HJBS
ArOE (LPT) D364 2023 |D5°80 139 BrereS'

28 HIBD WrdES rOSTIo TwEy

0°308 D0ed ?
1) 44 (2) 24
(3) 38 (4) 47

HH0BOS'T IHYVEE SEE Korsers
DB Q‘éSi)‘OSD (no-code computer vision
platform) e T LA VIS e TP AT TA TN

119.

E00N #80t508
(1) Assert Al
() Microsoft Inc
(3) Google ‘
(4) Dell Technologies @
: 008, DoVEN %
o.éago&aveseﬁ‘a@ 08 |
12 écﬁt;’;ﬁ S0 H3 oIS SR
b 1 ? | 1
tL:J?é n@)ggc?’mﬁ DI 5?53_&);. (CSA)
& 90‘3’0&5;;33{0;:&3“8“
(JAXA)
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